						MENDED 12										
						MENDED 10										
						MENDED 10										
FORT BEND COUNTY TABULATION RFQ 2014-09 FOOD TERM: OCTOBER 1, 2013 - MARCH 31, 2014 Lawson # 11032			Aogotech	Invoiced Unit Pric	GI	AMENDED 9.	Invoiced Unit Price	La	abatt	Invoiced Unit Price	1	PFG	Invoiced Unit Price	Premiu	ım Foods	Invoiced Unit Price
Description	Estimated Monthly Usage	Unit		Monthly Cost Price as Invoiced per unit/Per Case Pound Package /Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.
BEEF ENCHILADAS: FERNANDO, Pre-cooked, beef filling, 1.75 oz. each, without TVP products. 90 count per case. 13 cases per month. Brand Name: Fernando		ses	incomplete	alified: Due t e Invoiced Un e for all item	it											
Packaging: 90/1.75 oz CHICKEN ENCHILADAS: WC CN 897-7091, Pre-cooked, chicken filling, 112/2.50 oz. each	2048	Ounc			0.1566	\$320.64	24.67	0.1379	\$282.34	38.61	0.1670	\$341.93	36.00		\$0.00	
Brand Name: Fernando Packaging: 90/1.75 oz	560	Ounces			0.1367	\$76.55	21.53	0.1407	\$78.78	39.39	0.1460	\$81.76	23.00		\$0.00	
BREAKFAST BURRITO: FERNANDO, 48/5 oz. per case. Estimated monthly usage: 36 cases. Brand Name: Los Cabos Packaging: 72/3.6 oz	8640	Ounces			0.1133	\$978.91	38.33	0.1144	\$988.70	34.33		\$0.00			\$0.00	
CHEESE ENCHILADAS: FERNANDO, 90/1.625 oz. per case. Estimated monthly usage: 19 cases. Brand Name: Fernando's Packaging: 90/1.625 oz	2779	Junces			0.1631	\$453.21	23.93	0.1511	\$419.77	39.76	0.1720	\$477.95	25.20		\$0.00	
CHICKEN PATTIES, PRE-COOKED: Case pack of 100 each, 3.3 oz.Tyson Product #975. Estimated monthly usage: 36 cases. Brand Name: TYSON (8868087)	211)) sec			0.1031	ф133.21	23.33	0.1311	φ+17.77	33.70	0.1720	φ+11.73	23.20		φ0.00	
Packaging: 52/3.1 OZ BREADED COD PATTIES, PRE-COOKED, FISHERY #29756CN; Case	11880	Oun			0.1037	\$1,231.96	33.44	0.0849	\$1,008.18	13.68		\$0.00		0.1106	\$1,313.93	35.40
pack of 40 each, 4 oz.Fishery Products #29756CN. Estimated monthly usage: Brand Name: TRIDENT (8825044) Packaging: 1/10 LB	5280	Junces			0.2486	\$1,312.61	39.77	0.1607	\$848.43	25.71		\$0.00			\$0.00	
FRANKS: DECKER #70511, Turkey, water, corn syrup, salt, dextrose, spice, flavoring, sodium phosphate, paprika, sodium erythorbate, sodium nitrate, garlic powder (10 franks per pound). Packaged ten (10) pounds to case. Estimated usage: 600 lbs. Brand Name: Carolina 977278	2200) p			5.2400	91,912.01	00.11	3,1037	φυτυντο	20171		φν.00			ψυ.00	
Packaging: 10 lbs CHARBROILED BEEF PATTIES: ADVANCE #155-525-0, Beef, water, textured vegetable protein product (soy flour, caramel coloring, zinc oxide, niacinamide, ferrous sulfate, copper gluconate, Vitamin A palmitate, calcium pantothenate, thiamine mononitrate (B1), pyridoxine hydrochloride (B6), riboflavin (B2), ajanocobalamin (B12), seasoning: salt, monosodium glutamate, pepper. Package 90 to case, each 2.5 oz. Estimated monthly usage: 50 cases.	600	Pound			1.3352	\$801.12	13.35	1.2520	\$751.20	12.52	1.1900	\$714.00	11.90		\$0.00	
Brand Name: ADVANCE PIERRE #155-525-0 Packaging: 90/2.5 CT	11250	Ounces			0.2020	\$2,272.50	45.44	0.1604	\$1,804.50	36.09		\$0.00		0.1559	\$1,753.88	35.07

SMOKED SAUSAGE: Fully cooked, heat-n-serve, soy protein concentrate													
added. Pork, beef tongue trimmings, beef hearts, water, beef, soy protein													
concentrate, salt, corn syrup, dextrose, pepper, sodium tripolyphosphate,													
garlic powder, monosodium glutamate, sodium erythorbate, sodium nitrate.													
Packaged ten (10) lb. case, five (5) each to one (1) pound. Estimated monthly	4												
Brand Name: Good S 338743	pur												
Packaging: 1/20#	700 전	2.9763	\$2,083.41	30.11	2.0770	\$1,453.90	20.77	1.7400	\$1,218.00	34.80	2.3400	\$1,638.00	23.40
BAR-B-QUE: TEXAS SIGNATURE FOOD #1254 Fully cooked, chopped													
barbecued beef with sauce, textured vegetable protein product. Packaged five													
(5) pound tubs, four (4) tubs to a case. Estimated monthly usage: 14 cases.]]												
Brand Name: kelly's 325126	SS												
Packaging: 4/5#	280	0.1868	\$52.30	59.76	1.9680	\$551.04	39.36	0.1092	\$30.58	34.94	2.2400	\$627.20	44.80
BOLOGNA, Beef: Oscar Mayer, U.S.D.A. inspected, cooked, beef, smoked,	280 0	0.1808	\$32.30	39.70	1.9080	\$331.04	39.30	0.1092	\$30.36	34.94	2.2400	\$027.20	44.00
I.M.P.S. #801 Formula A1, natural color, 2/5.5 pounds. Estimated monthly													
usage: 600 pounds.													
usage: 000 pounus.	1 1												
Brand Name: FARMLAND (8982100)	_												
	an our												
Packaging: 1/10 LB	600 දි		\$0.00		2.7700	\$1,662.00	27.70		\$0.00			\$0.00	
BOLOGNA, Beef: Farmland 801 FR, U.S.D.A. inspected. 1/10 #													
Estimated monthly usage: 10 pounds.													
Brand Name: FARMLAND (8982100)	g												
Packaging: 1/10 LB	10 0		\$0.00		2.7700	\$27.70	27.70		\$0.00			\$0.00	
	10 Д		\$0.00		2.7700	\$27.70	27.70		\$0.00			\$0.00	
BOLOGNA, Turkey: Carolina (fully cooked), Mechanically separated turkey, water, seasoning (salt, dextrose, spices, sodium phosphorate, sodium													
erythorbate, garlic powder, spice extractives, off paprika, modified food starch													
potassium, lactate, sodium diacetate, sodium nitrite). U.S.D.A. inspected,													
2/5.5 pounds. Estimated monthly usage: 20 pounds.													
	4 1												
Brand Name: Carolina 977278	pur												
Packaging: 2/10#	20 වි		\$0.00		2.7700	\$55.40	27.70	1.1000	\$22.00	22.00		\$0.00	
CHICKEN LEG QUARTERS: Tyson or Pilgrims Pride, Raw, four (4) 10 lb.													
bags per case. Estimated monthly usage: 120 cases. 1 lb. per leg quarter. NO													
SUBSTITUTES													
Brand Name: Pilgrims 944574	р												
Packaging: 4/10#	4800 0		\$0.00		1.1357	\$5,451.38	38.33	0.8700	\$4,176.00	34.80		\$0.00	
SHOULDER CLODS: Tyson/IBP or Excell (See Enclosure #1, page 2, Name	4800 🗷		\$0.00		1.1337	φ5,451.56	30.33	0.0700	φ4,170.00	34.00		\$0.00	
Brand), 1/65# Average.													
	1 1												
Brand Name: USDA INSPECTED IBP, EXCEL, SWIFT	g												
60/70#	455 80		01 //2 0-	o 4-		#1 0 = 0.5	0.0-	2.770	01.100.7			φ1 e co 1 =	
	455 දි	2.4459	\$1,112.88	2.45	2.3700	\$1,078.35	2.37	2.5500	\$1,160.25	2.55	2.3300	\$1,060.15	2.33
HAMBURGER MEAT: USDA Extra Lean Ground beef, 81% lean, 19% fat,													
bone free. Packaged six (6) 10 lb. packages per case. Estimated monthly usage: 4320 lbs													
	1 1												
Brand Name: Slvr Source 339869	pun												
Packaging: 6/10#	4320 호		\$0.00		2.5100	\$10,843.20	2.51	2.1400	\$9,244.80	2.14	2.1900	\$9,460.80	2.19
SEASONING BACON ENDS AND PIECES: Tyson or Wrights, Cured with													
water, salt, sugar, sodium phosphates, sodium erythorbate, sodium nitrite.													
Packaged 10 lb. box. Estimated monthly usage: 59 boxes.]]												
GUSTO/ WRIGHT	p												
10#	500 8	2.25	61 402 11	05.55	1.7400	¢1 00 c co			\$0.00		1 4500	\$855.50	44.50
	590 යි	2.3765	\$1,402.14	85.55	1.7400	\$1,026.60	1.74		\$0.00		1.4500	\$855.50	14.50
BREADED STEAK FINGERS: Advance #CN 14-16, Manufactured by													
Advance, 0.97 oz., 10 lb. per case. Estimated monthly usage: 12 cases.													
Brand Name: ADVANCE (8951352)	pu												
Packaging: 160/.97 OZ	180 8	2.5183	\$453.29	24.43	2,2182	\$399.28	22.87		\$0.00			\$0.00	
0 0	100 🖪	2.3103	ψ- † JJ.47	47. 7 3	2.2102	φυγγ.20	22.01		φυ.υυ			φυ.υυ	

TIAN CILL ON A LANGUE BY THE STATE OF THE ST			т -	T	1									-
HAM: Club ham, fully cooked, approximate 2/12 lb rolls per case. Estimated														
monthly usage: 7 cases.	1													
Brand Name: HORMEL (5528879)		pun												
Packaging: 2/13 LB	168	Po	2.2471	\$377.51	116.85	1.7100	\$287.28	1.71	1.8900	\$317.52	37.80	2.0500	\$344.40	2.05
MEATLOAF, CHARBROILED: Advance, 75% ground beef (not more than														
30% fat), water, vegetable protein product, salt, dehydrated onions, bread														
crumbs, dextrose, monosodium glutamate, tomato powder, green and red bell														
peppers, spices, non-fat dry milk. This 3.5 oz. cooked portion provides 2.25 oz.														
equivalent cooked meat/meat alternate for the child nutrition meal pattern c/n requirements. Case pack 70 each 3.60 oz. Estimated monthly usage: 50 cases.														
Brand Name: ADVANCE PIERRE #56236	1	90												
	1	nce												
Packaging: 70/3.6OZ	12600	ō	0.2116	\$2,666.16	50.65	0.1865	\$2,349.50	46.99		\$0.00		0.1772	\$2,232.72	44.73
SAUSAGE PATTIES, Wampler or Cherokee #CB800160, pre-cooked: Frozen.														
Case pack of 160, one (1) oz. each. Estimated monthly usage:	ı													
Brand Name: Packer/Westcrk		ses												
Packaging: 320/1oz	18560	Onr	0.3066	\$5,690.50	49.06	0.1931	\$3,584.40	30.90	0.0980	\$1,818.88	31.36	0.2010	\$3,730.56	38.64
SMOKIE LINKS SAUSAGE: Brenham Smoked Sausage #50088000,		Ħ					, , , , , , ,			. ,			, , , , , , , , , , , , , , , , , , , ,	
Breakfast sausage, fully cooked heat-n- serve, pork and beef, water, salt, corn														
syrup, pepper, sodium tripolyphosphate, garlic powder, monosodium														
glutamate, sodium erythorbate, sodium nitrate. Packaged 160 each, one (1)														
oz. Estimated monthly usage: 81 cases.	4													
Brand Name: EDDY (8914996)	1	ces												
Packaging: 160/1 OZ	12960	Om	0.1581	\$2,048.98	25.30	0.1424	\$1,845.18	22.78		\$0.00		0.1444	\$1,871.42	23.10
PEPPERONI PIZZA: 96 pack 4.87oz,4"x 6"pizza per case. Schwans or Tonys				ĺ										
#63616. Estimated monthly usage: 78 cases														
Brand Name: TONYS (8902140)		ses												
Packaging: 96/4.65 OZ	36467	onno	0.1157	\$4,219.18	51.65	0.0914	\$3,332.97	40.80		\$0.00			\$0.00	
DICED CHICKEN MEAT ½": 1/10 lb. per case. Tyson #3138	30407	<u> </u>	0.1157	\$4,219.16	31.03	0.0314	Ф3,332.91	40.00		\$0.00			\$0.00	
	-													
PREMIUM FOODS	1	pur												
10#	340	Por		\$0.00		2.8432	\$966.70	85.07	3.8000	\$1,292.00	38.00	2.0200	\$686.80	2.02
PORK AND VEGETABLE EGG ROLL: Minh #69349 CN 60/4.2 oz. per case.														
Brand Name: MINH (8990103)		Ses												
Packaging: 60/4.4 OZ	6804	Om	0.2026	\$1,378.49	36.47	0.1653	\$1,124.72	43.64	0.1980	\$1,347.19	42.77		\$0.00	
CHICKEN EGG ROLL: Minh #69461 CN 60/3 oz. per case. Estimated	000-		0.2020	\$1,376.47	50.47	0.1033	φ1,124.72	73.07	0.1760	\$1,547.17	72.11		\$0.00	
Brand Name: MINH (8993358)	1	SS.												
	1	ınce												
Packaging: 60/3 OZ	540	Ō	0.2225	\$120.15	40.06	0.1974	\$106.59	35.53		\$0.00			\$0.00	
BACON: 30 lbs. per case. 14-18" slice size. Wright's. Estimated monthly														
usage: 13 cases.	ł													
Brand Name: LITTLE PIG (8911060)	I	pun												
Packaging: 1/30 LB	390	Po	4.1767	\$1,628.91	62.65	2.7527	\$1,073.54	82.58	3.1000	\$1,209.00	93.00	3.8500	\$1,501.50	115.50
PORK CHOPS: 27/6 oz cuts. Hormel Center Cut. Estimated monthly usage:														
Brand Name: Mims	I	ces												
Packaging: 27/6 oz	5346	Onn	0.0213	\$113.87	3.45	0.0254	\$135.63	4.11		\$0.00		0.1425	\$761.81	22.80
COOL WHIP: 14 oz container. 12 per case. Hytop. Estimated monthly	2340	' 	0.0213	φ113.07	3.43	0.0234	دن.رد د ب	4.11		φυ.υυ		0.1423	φ/01.61	22.00
usage: 8 cases. NO AEROSOL CANS														
Brand Name:	1	es												
	1	nuc	l											
Packaging:	1344	· (O	0.1617	\$217.32	31.06	0.1590	\$213.71	30.53		\$0.00			\$0.00	
PECAN PIECES: 5 lb box. Estimated monthly usage: 9 cases.	-													
Brand Name: Magellan 357221	I	pur												
Packaging: 1/5#	45	Poi	8.7378	\$393.20	262.13	7.5560	\$340.02	37.78	7.2000	\$324.00	36.00		\$0.00	
TOM TURKEY: Raw, Grade A Toms. Two (2) Toms per case. Estimated														
monthly usage: 4 cases.														
Brand Name: USDA GRADE "A"		æ												
Packaging: 18/20 EACH	5	Eac	27,3000	\$218.40	1.30		\$0.00	NO BID	27.9300	\$223.44	1.33#	26.8000	\$214.40	26.80
	,		27.5000	Ψ210.40	1.00		ψ0.00	טוט כיי	27.7500	Ψ223.44		20.0000	ΨΔΙΤίΤΟ	20.00

FOSTER CHICKEN CORN DOGS: 72/4 oz in a case. Estimated monthly usage: 12 cases.														
Brand Name: Don Lee Farms	1	S												
Packaging: 72/4 oz	2456	on .	0.0053	A204.00	04.50	0.0924	#210.20	00.00		\$0.00			Φ0.00	
GEORGES/QTF BREADED PORK PATTIES: 40/ 3.75 oz in a case. Estimated monthly usage: 8 cases.	3456	0	0.0853	\$294.80	24.56	0.0924	\$319.20	26.60		\$0.00			\$0.00	
Estimated monthly usage: 8 cases. Brand Name: ADVANCE (8927410)		second												
Packaging: 40/3.75 OZ	1200	O	0.1276	\$153.12	19.14	0.1177	\$141.20	17.65		\$0.00			\$0.00	
EDDY SAUSAGE MORNING ROLL SWEET: 80/20z. Estimated monthly														
usage: 8 cases.	4													
Brand Name: Le Chi		nce.												
Packaging: 80/2.25 oz	1280	Õ	0.1536	\$196.61	27.65	0.1563	\$200.00	25.00		\$0.00		0.1813	\$232.06	29.00
PORK SAUSAGE PATTIE: 1.5 oz each. 10 lb/case. Estimated monthly usage: 8 cases.														
Brand Name: Daily M 319970	1	σ												
	120	uno	2.0460	0265.62	00.50	2 2 4 2 7	0201.24	00.54	2 2100	#255 20	07.70	2 2000	#20 < 00	00.00
Packaging: 96/2 oz 12# FERNANDO BURRITO BEEF BEAN & RED CN: 5.75 oz each, 60/case.	120	<u> </u>	3.0468	\$365.62	36.56	2.3437	\$281.24	23.51	2.3100	\$277.20	27.72	2.3900	\$286.80	23.90
Estimated monthly usage: 10 cases.]													
Brand Name: Los Cabos 859553	1	Ses												
Packaging: 72/4 oz	3450	un O	0.1299	\$448.16	44.80	0.1383	\$477.02	41.48	0.1100	\$379.50	31.68		\$0.00	
CHICKEN NUGGET PATTIE FRITTER: 200/.8oz. Estimated monthly usage: 10 cases.	3.50		0.12//	\$110.10	11100	0.1303	\$177.02	717.10	012100	φεινιου	0.100		φσ.σσ	
Brand Name: Tyson 886-8051		8												
Packaging: 250/.68 OZ	1600	onno		\$0.00		0.1024	\$165.26	47.57		\$0.00		0.1106	6176.06	25.20
FROZEN SCRAMBLED BLND EGGS: 6/5 lb. Estimated monthly usage: 10				\$0.00		0.1034	\$165.36	17.57		\$0.00		0.1106	\$176.96	35.39
Brand Name: Rembrandt 2799824	1	_												
6/5#		onno												
0/ 5# TURKEY BREAKFAST SAUSAGE LINKS: 192/1 oz Estimated monthly	300	<u> </u>	1.6295	\$488.85	48.89	1.5677	\$470.30	47.03	1.5000	\$450.00	45.00		\$0.00	
usage: 5 cases.														
Brand Name: Perdue	1	SS												
Packaging: 160/1 oz	960	ŭno	0.1456	\$139.78	23.29	0.1729	\$166.00	33.20	0.1600	\$153.60	25.60		\$0.00	
CATFISH FILLET BREADED: 4 oz each/10 lb box. Estimated monthly usage: 10 boxes.		Ť		7201110		313125	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			7.00.00			7000	
Brand Name: Amer Catch 066954	1													
Packaging: 40/4 oz	400	ach	1.3706	\$548.24	82.24	1.2263	\$490.50	49.05	1.1800	\$472.00	47.20		\$0.00	
CHICKEN, DICED, PRE-COOKED: 10 lb case. Estimated monthly usage:	400	0	1.3706	\$348.24	62.24	1.2203	\$490.50	49.05	1.1800	\$472.00	47.20		\$0.00	
20-30 lbs.														
Brand Name: TYSON RLS (11416)	1	PE PE												
Packaging: 2/5 LB	20	Pon	3.1765	\$63.53	31.76	3.0320	\$60.64	30.32		\$0.00			\$0.00	
PIZZA, CHEESE, BIG DADDY, ROLLED EDGE CHEESE: Schwans,		×.								,				
72/5.41 oz per slice in case. Estimated monthly usage: 192 each/pieces.	4	iece												
Brand Name: BIG DADDY (8904579)	1	ch/P												
Packaging: 9/16 INCH	144	Ea		\$0.00		0.7014	\$101.00	67.33		\$0.00			\$0.00	
PIZZA, CHEESE: Tony's, 4*6 smart thin, The Schwan Food Company 96-														
4.56 oz. Each pizza provides 200 oz equivalent meat alternate Estimated monthly usage: 192 each/pieces.		Ses												
Brand Name: TONYS (8907215)	1	Pie												
Packaging: 96/4.5 OZ	192	Each	0.5232	\$100.45	50.23	0.4188	\$80,40	40.20		\$0.00			\$0.00	
TURKEY ROAST: Breast/Thigh pc: Jenni O. 4/8-10lb rw. Estimated	1/2	7		φ100.40	30.20	0.7100	Ψου-40	10.20		ψ0.00			ψ0.00	
monthly usage: 1case														
Brand Name: Jenni-O 320375	1	9												
Packaging: 4/4-6# avg	1	ca	3.5000	\$3.50	3.50	3.2400	\$3.24	3.24	2.8000	\$2.80	2.80		\$0.00	
CHICKEN BREAST POPCORN: Tyson. 2/5 lb per case. Estimated monthly usage: 5cases											_			
Brand Name: GOLD KIST (8868509)	1	spi												
Packaging: 1/30 LB	50	Pour	2.9372	\$146.86	29.37	2.4250	\$121.25	72.75		\$0.00			\$0.00	
	50			φ1 10.00	_0.07	217200	ΨΙΜΙΙ	. 2 3		ψ0.00		·	ψ0.00	

CHICKEN FAJITA STRIPS: Kings Ed 10 lbs per case.														
Estimated monthly usage: 5 cases														
Brand Name: Eddy 933313		spur												
Packaging: 2/5#	50	Por		\$0.00		2.8510	\$142.55	85.53	2.7400	\$137.00	27.40		\$0.00	
PANCAKE WRAP W/TURKEY SAUSAGE ON STICK: Foster Farms.														
56\2.85oz case. Estimated monthly usage: 3 cases Brand Name: FOSTER FRM (9330018)		20												
Packaging: 56/2.85OZ	2	ase	22.7000	\$68.10	22.70	20.8700	\$62.61	20.87		\$0.00			\$0.00	
TURKEY BREAST, SLICED 1/2 oz SLICED: Jennie-O. 12\1 lb. Estimated			22.7000	\$00.10	22.10	20.0700	φ02.01	20.01		\$0.00			\$0.00	
monthly usage: 2 cases														
Brand Name: JENNIE-O (5474008)		spu												
Packaging: 12/1 LB	50	Pou	3.8824	\$194.12	46.59	3.6667	\$183.33	44.00		\$0.00			\$0.00	
BAJA, BREADED, POLLOCK FISH STICK: Trident. 160\10z pieces per														
case. Estimated monthly usage: 4 cases Brand Name: TRIDENT (8825000)		S												
Packaging: 1/10 LB	4.00	ounc		****	22.22	• 00 •0	****	22.25		40.00				
ASIAN CHICKEN, TANGERINE: Green Dragon. 6/5lb bags of chicken per	40	<u>~</u>	2.9996	\$119.98	30.00	2.8050	\$112.20	28.05		\$0.00			\$0.00	
case with 6/2.15lb bags of sauce. Estimated monthly usage: 2 cases														
Brand Name: LINGS (4520000)		Sa												
Packaging: 6/5 LB	2	Cas		\$0.00		150.9200	\$301.84	150.92		\$0.00			\$0.00	
TATER TOTS (GEMS): Frozen, potatoes, partially hydrogenated vegetable		□												
oil, salt, ascorbic acid, extrose, sodium acid pyrophosphate added to preserve natural color. Packaged six (6) five (5) pound bags, thirty (30) pounds to case.														
Estimated monthly usage: 30 cases.														
Brand Name: SIMPLOT (9050576)		spu												
Packaging: 6/5 LB	900	Pour	0.9568	\$861.12	28.70	0.6243	\$561.90	18.73		\$0.00			\$0.00	
PRE-COOKED GOLDEN PATTIES (SHREDDED HASH BROWN		1											·	
POTATOES) FROZEN: Simplot #101 or Lamb Weston G-53,Potatoes,														
vegetable oil shortening (contains palm oil or partially hydrogenated soybean oil), salt, natural flavoring, dehydrated onions, dextrose, disodium dihydrogen														
pyrophosphate (to retain natural color). Packaged 214 to case. Pre-cooked.														
2.25 oz. each. Estimated monthly usage: 23 cases.														
Brand Name: SIMPLOT (9020074)		spun												
Packaging: 6/5 LB	690	Po	0.9692	\$668.75	29.08	0.7480	\$516.12	22.44		\$0.00			\$0.00	
CUT BROCCOLI: Frozen. Twelve (12) 2.5 pound per case. Estimated monthly usage: 18 cases.														
Brand Name: FINELINE		S												
Packaging: 12/2.5	540	onno	0.7991	\$431.51	23.97	0.6830	\$368.82	20.49		\$0.00		0.6600	\$256.40	19.80
SQUASH, SLICED: Frozen. Twelve (12) 3 pound packages per case.	540	<u>a</u>	0./991	\$431.31	23.97	0.0830	\$308.8Z	20.49		\$0.00		0.0000	\$356.40	19.60
Estimated monthly usage: 18 cases.														
Brand Name: FINELINE		spu												
Packaging: 12/3	648	Pou	0.8512	\$551.58	30.64	0.8781	\$568.98	31.61	0.7895	\$511.60	15.79	0.7800	\$505.44	28.08
STEAK-CUT FRIES: Frozen, Simplot or Lamb Wesson. Six (6) 5lb packages		□	İ											
per case. Estimated monthly usage: 43 cases.		80												
Brand Name: SUN CROP (9024852)		pun												
Packaging: 6/5 LB	1290	Po	0.6921	\$892.81	20.76	0.6553	\$845.38	19.66	0.7130	\$919.77	21.39		\$0.00	
OKRA: sliced. 20 lb box. Frosty Acres (non breaded). Estimated monthly usage: 4 cases.														
Brand Name: Packer (9095192)		qs												
Packaging: 1/20 LB	80	onu	0.9508	\$76.06	19.02	0.8130	\$65.04	16.26		\$0.00		0.9000	\$72.00	18.00
SWEET PEAS: Peas. Estimated monthly usage: 800 pounds.	- 00	<u> </u>	0.7508	\$70.00	19.02	0.0130	φυ3.04	10.20	ĺ	φυ.00		0.5000	\$12.00	10.00
Brand Name: FINELINE		spi												
Packaging: 1/20	800	Pour	0.9720	\$777.60	29.16	0.8865	\$709.20	17.73	0.8193	\$655.44	24.58	0.7974	\$637.92	15.95
CARROTTS: Sliced Carrots. Estimated monthly usage: 1200 pounds.		i	0.57.20	φ50	20.10	0.0005	\$7.05.20		0.0175	4000.44	250	0.7,7,7	ψυ2	.0.50
Brand Name: Chill Ripe 878896		spu												
Packaging: 1/30#	80	Pour	0.8079	\$64.63	16.16	0.6705	\$53.64	13.41	0.5700	\$45.60	17.10	0.6400	\$51.20	12.80
				4000			+			Ţ.2.00			72.720	50

GREEN BEANS: Cutt Grean Beans. Estimated monthly usage: 800 pounds.	1		1											
Brand Name: Chill Ripe 259981		spu												
Packaging: 1/30#	800	Pour	1.0106	\$808.48	20.21	0.8705	\$696.40	17.41	0.7100	\$568.00	21.30	0.7200	\$576.00	14.40
CORN: Whole Kernel Corn. Estimated monthly usage: 800 pounds.		†												
Brand Name: GARDEN FRE (9090540)		spr												
Packaging: 1/20 LB	80	onic	0.9969	\$79.75	19.94	0.7600	\$60.80	15.20	0.7895	\$63.16	23.69	0.7900	\$63.20	15.80
MIXED VEGETABLES: Mixed Vegetables to include: carrots, peas, lima	00	'''	0.7707	\$17.13	13.34	0.7000	φου.συ	13.20	0.7673	\$03.10	25.05	0.7700	\$05.20	13.00
beans, green beans, and whole kernel corn. Estimated monthly usage: 1200														
Brand Name: FINELINE	1	qs												
Packaging: 1/20	1200	onno	0.9551	\$1,146.12	28.65	0.9200	\$1,104.00	27.60		\$0.00		0.7200	\$864.00	14.40
SWEET POTATO FRIES:. In Syrup, 20 pound/CS. Estimated monthly	1200	, <u>p.</u>	0.9331	\$1,140.12	20.03	0.9200	\$1,104.00	27.00		\$0.00		0.7200	φου4.υυ	14.40
usage: 20 pounds.														
Brand Name: SWEETS (9025099)	1	g												
Packaging: 6/2.5 LB	20	onu		\$0.00		1.4140	\$28.28	24.24		\$0.00			\$0.00	
MASHED, SWEET POTATO: Lamb Weston 13007. 12\32oz. Estimated	20	<u>' 4 </u>		\$0.00		1,4140	\$48.48	21.21		\$0.00			\$0.00	
monthly usage: 2 boxes.														
Brand Name: SWT THINGS (9017091)	1	qs												
Packaging: 12/32 OZ	80	onu		\$0.00		1.5688	\$125.50	37.65		\$0.00			\$0.00	
FROZEN BISCUITS: 24/7.5oz. Hytop Buttermilk or Homestyle Bisquits.	80	<u>' </u>		\$0.00		1.5088	\$145.50	37.05		\$0.00			\$0.00	
Brand Name: Merico 965110	1	ls.												
	1 .	onno						,						
Packaging: 24/7.5 oz = 11.25 #	80) <u>~</u>		\$0.00		0.9680	\$77.44	10.89	0.9600	\$76.80	10.80		\$0.00	
FLOUR TORTILLAS: Frozen, flour, water, all vegetable shortening, margarine, whey, baking powder, salt, 6 inch size. Packed 18 packages of 24														
count toritillas per case. Rodriquez #265.														
Brand Name: Lopez Foods 240116	1													
		ach	0.0544		00.50			40.00		A 402 02	22.42		** ***	
Packaging: 24/20 ct MRS BUTTERWORTHS WAFFLE SQ JUMBO: 144/1.27 oz. Estimated	7344	· <u>ш</u>	0.0712	\$522.89	20.50	0.0900	\$660.96	16.92	0.0550	\$403.92	26.40		\$0.00	
monthly usage: 5 cases.														
Brand Name: MRS BUTTER (9330011)		Sp												
	- 00	onno	1 4200	0115.04	40.00	1 2200	Φ00.11	4440		#0.00			Φ0.00	
Packaging: 144/1.27 OZ MRS BUTTERWORTHS FRENCH TOAST THIN SLCD: 8/CT. 18 CT	80	امرا	1.4380	\$115.04	16.82	1.2388	\$99.11	14.16		\$0.00			\$0.00	
PER CASE. Estimated monthly usage: 5 cases.														
Brand Name: MRS BUTTER (9330012)	1	sp												
Packaging: 144/1.5 OZ	- 00	onno	2 1176	Ø1.60.41	00.50	1.707	#140.0 c	00.77		#0.00			\$0.00	
OMELET, COLBY CHEESE: Papetti's. 144\2.1 oz. Estimated monthly	80	امار	2.1176	\$169.41	28.59	1.7607	\$140.86	23.77		\$0.00			\$0.00	
usage: 1 case.														
Brand Name: PAPETTI'S (8859017)														
Packaging: 144/2.1 OZ.	١.	ase		\$0.00		57 (000	¢57.60	E7.00		\$0.00			\$0.00	
BISCUIT, WHOLE GRAIN: Conestoga. 210\1.8 oz. Estimated monthly	╊	 	i	\$0.00		57.6000	\$57.60	57.60		\$0.00			\$0.00	
usage: 4 case.														
Brand Name: CONESTOGA (8754201)	1													
Packaging: 144/2 OZ	1	ase		\$0.00		24.1800	\$96.72	24.18		\$0.00			\$0.00	
BREADSTICK, WHOLE GRAIN: Pierre. 144\1.5 oz. Estimated monthly	1 4	' `		\$0.00		24.1000	\$90.72	24.10		\$0.00			\$0.00	
usage: 2 cases.		 												
Brand Name: PIERRE (9231059)	1													
Packaging: 144/1.5 OZ	1 .	ase		\$0.00		22.1900	\$44.38	22.19		\$0.00			\$0.00	
CINNAMON BUN ULTRA WHOLE WHEAT: Super Bake. 72\2.9 oz.	1	 		\$0.00		22.1900	\$44.3 8	22.19		\$0.00			\$0.00	
Estimated monthly usage: 2 cases.	1	 												
Brand Name: OTIS SPUNK (4033425)	1													
Packaging: 72/2.75 OZ	1	ase		\$0.00		37.0100	\$74.02	37.01		\$0.00			\$0.00	
MUFFIN, BLUEBERRY WHOLE GRAIN: Otis Spunk. 72\1.8 oz.		<u>, -</u>		φυ.00		37.0100	φ/⊶.02	37.01		φυ.00			φυ.00	
Estimated monthly usage: 2 cases.	1	 												
Brand Name: BAKECRAFTE (4033109)	1	 												
Packaging: 92/2 OZ	1 .	ase		\$0.00		26.3900	\$52.78	26.20		\$0.00			\$0.00	
i ucauging. 12/2 OZ	1 2	U		\$0.00		20.3900	\$54./8	26.39		\$0.00			\$0.00	

EDOZEN HIGEG A 1 NV E 1 N HOMOS C CC 1 M C		T	T	1						1	T	
FROZEN JUICES: Apple, Vita Fresh Item #02403, fortified with vitamin C. Packaged 96/4 oz. containers per case.												
Brand Name: SUNCUP (60303)	-											
` '		ıch										
Packaging: 70/4OZ	8460	<u> </u>	\$0.00		0.1526	\$1,290.75	10.68		\$0.00			\$0.00
FROZEN JUICES: Orange, Vita Fresh Item#02401, fortified with vitamin C. Packaged 96/4 oz. containers per case.												
Brand Name: SUNCUP (60301)	1											
		lch lch										
Packaging: 70/4OZ	8460	<u> </u>	\$0.00		0.1700	\$1,438.20	11.90		\$0.00			\$0.00
PUNCH FLAVOR DRINK MIX: Instant, sugar sweetened, vitamin C added,												
12/10 ounces packs per case, Kool-Aide brand or equivalent. Estimated Brand Name: Unipro	1											
1		Se										
Packaging: 12/10 oz	15	ਤੋਂ 15.458	8 \$231.88	15.46	16.1800	\$242.70	16.18		\$0.00			\$0.00
LEMONADE FLAVOR DRINK MIX: Instant, sugar sweetened, Vitamin C												
added, 12/10 ounces packs per case, Kool-Aide brand or equivalent. Estimated monthly usage: 37 cases.												
Brand Name: Unipro Royal	1											
• •		ases	o	4.5.44	16.100-	A=00 c	40.4-		**			#0.00
Packaging: 12/10 oz	37	ਤੌਂ 15.458	8 \$571.98	15.46	16.1800	\$598.66	16.18		\$0.00		-	\$0.00
TEA: Packaged 96 1 oz. bags. Estimated monthly usage: 22 cases.	-											
Brand Name: Mt Sterling 952969		Ş										
Packaging: 96/1 oz	22	in 13.214	1 \$290.71	13.21	12.4700	\$274.34	12.47	11.9000	\$261.80	11.90		\$0.00
CEREAL: Fruit Loops or equivalent 96/.75oz, sweetened, individual bowl								ew: urer ges	ew: urer iges	ew: urer ges		
pack. Estimated monthly usage: 45 cases.								Vendo Withdrev Manufactur Change	Vendc Withdrew Manufactur Change	Vend Withdrev Manufactur Change		
Brand Name: MALTOMEAL (9386120)		<u> </u>						Wi anu C	and Wi	and O		
Packaging: 96/.75 OZ	4320	0.400	0 \$1,728.00	38.40	0.2191	\$946.35	21.03	Σ	Σ	Σ		\$0.00
CEREAL: Frosted flakes or equivalent 96/1 oz, sweetened, individual bowl		7						lor w: rer les	lor w: rer les	for w: es		
pack. Estimated monthly usage: 89 cases.								/enc ndre actui	/enc ndre actul	/enc ndre actur		
Brand Name: MALTO MEAL (9399494)								Vendo Withdrew Manufacture Change	Vendo Withdrew Manufacture Change	Vendo Withdrew Manufactur Change		
Packaging: 96/1 OZ	8544	다 의 0.287	0 \$2,452.13	27.55	0.2163	\$1,847.64	20.76	Σ	Σ	Σ		\$0.00
CEREAL: Rice Krispies or equivalent 96/.75 oz, sweetened, individual bowl	8344	0.287	52,432.13	27.33	0.2103	\$1,047.04	20.76					\$0.00
pack. Estimated monthly usage: 41 cases.												
Brand Name: Kellogg's (#3730005)												
Packaging: 96/1 oz	3969	0.400	0 \$1,587.60	38.40	0,2542	\$1,008.92	24.40	0.1953	\$775.15	18.75		\$0.00
CEREAL: Apple Jacks or equivalent 96/1 oz., sweetened, individual bowl	3969	0.400	\$1,587.60	38.40	0.2542	\$1,008.92	24.40	0.1955	\$775.15	18.75		\$0.00
pack. Estimated monthly usage: 40 cases.												
Brand Name: MALTOMEAL (9386138)												
Packaging: 96/75 OZ	3840	ach	61.536.00	20.40	0.2220	¢955.60	24.20		\$0.00			\$0.00
CEREAL: Whole Grain Dry, 96/1 oz., individual bowl pack. Estimated	3840	යි <u> </u>	0 \$1,536.00	38.40	0.2228	\$855.60	21.39		\$0.00			\$0.00
monthly usage: 6 cases.												
Brand Name: GEN MILLS (6490011)	1											
		ach		00.40	0.2500	Φ210.20	20.50		#C 22			#0.00
Packaging: 96/1 OZ CHOCOLATE CHIP COOKIES: Uniformly baked, color and taste suitable to	576	<u>ධි</u> 0.397	7 \$229.08 Disqualified:		0.3790	\$218.28	36.38		\$0.00			\$0.00
type, broken cookies should not be over 5% of the total, enriched flour,		1		tem size 100 rage of Sugar								
Nabisco or equivalent, 12/12 oz. per case. Estimated monthly usage: 65 cases.			Laige-Ove	age of Sugai								
, , ,												
Brand Name: KEEBLER (3780000)		SS.										
Packaging: 1/160 OZ	9360	Oun			0.1328	\$1,242.54	21.24		\$0.00			\$0.00
OATMEAL COOKIES: Uniformly baked, color and taste suitable to type,	7500				0.1320	φ1,242.34	21.24		φ0.00			φ0.00
broken cookies should not be over 5% of the total, enriched flour, Nabisco or												
equivalent, 12/12 oz. per case. Estimated monthly usage: 65 cases.												
Brand Name: KEEBLER (3782020)		Ses										
Packaging: 1/160 OZ	9360	ĬII	\$0.00		0.1133	\$1,060.61	18.13		\$0.00			\$0.00
	7500		φ0.00		0.1133	φ1,000.01	10.13		φ0.00			ψ0.00

VANILLA WAFER COOKIES (6/13.3 oz per case): Enriched wheat flour	1		ſ	1	1								Ī	1
(contains niacin, reduced iron, thiamine mononitrate (Vit B1), Riboflavin (Vit														
B2) sugar, animal or vegetable shortening (lard or partially hydrogenated														
Brand ame: KEEBLER (3787777)		ses												
Packaging: 6/13.3 OZ	1197	Ounc	0.1538	\$184.10	12.27	0.1246	\$149.10	9.94		\$0.00			\$0.00	
SALTINE CRACKERS: Individual Packets. 500 each 2/packs to a case.	11)/	Ĕ	0.1336	\$104.10	12.21	0.1240	φ142.10	3.34		\$0.00			\$0.00	
Estimated monthly usage: 13 cases.														
Brand Name: SUNSHINE (3741808)	1													
Packaging: 500/2 CT	6500	ach	0.0265	\$172.25	13.26	0.0247	\$160.55	12.35	0.0296	\$192.40	14.80		\$0.00	
CHOCOLATE CHIP COOKIES 100 CALORIE, CHIPAHOY: 72/.75 oz	0300	<u> </u>	0.0203	\$172.23	13.20	0.0247	φ100.55	12.33	0.0290	\$192.40	14.00		\$0.00	
Estimated monthly usage: 4 cases.														
Brand Name: NABISCO (3760604)	1													
Packaging: 72/.81 OZ	4	Sase		\$0.00		27.3000	\$109.20	27.30		\$0.00			\$0.00	
CHOCOLATE CHIP COOKIES, BIG: Grandma's or equivalent, 60/2.75 oz.	-	ř		ψ0.00		2710000	ψ 1 03.20	21.00		φ0.00			φο.σσ	
per case. Estimated monthly usage: 4 cases.														
Brand Name: GRANDMAS (3802527)		ω.												
Packaging: 60/2.5 OZ	4	case	17.1106	\$68.44	17.11	15.6300	\$62.52	15.63		\$0.00			\$0.00	
CHOCOLATE CHIP COOKIES, BITE SIZE, CHIPAHOY: 60/2 oz per case.	.†	Ħ ŀ	17.1100	Ψ00	17.11	10.0000	ψ02132	10.00		φ0.00			ψ0.00	
Estimated monthly usage: 4 cases.	J													
Brand Name: FAMOUSAMOS (3781200)		ω.												
Packaging: 60/2 OZ	4	sase		\$0.00		20.9600	\$83.84	20.96		\$0.00			\$0.00	
OATMEAL RAISIN COOKIES, BIG: Grandma's or equivalent, 60/2.75. per	†			ψ0.00		2013 000	φουιοι	20.00		ψ0.00			ψ0.00	
case. Estimated monthly usage: 4 cases.														
Brand Name: GRANDMAS (3802550)		×												
Packaging: 60/2.5 OZ	4	case		\$0.00		15.6300	\$62.52	15.63		\$0.00			\$0.00	
OREO MINI COOKIES: OREO or equal. 48/1.25 oz per case. Estimated		†								·				
monthly usage: 4 cases.														
Brand Name: NABISCO (3808599)		SS												
Packaging: 48/1.OZ	4	case		\$0.00		20.5900	\$82.36	20.59		\$0.00			\$0.00	
VANILLA WAFER MINI COOKIES: Bake CRF or equal. 100/1.1 oz per		T												
case. Estimated monthly usage: 4 cases.														
Brand Name: NABISCO (3786549)		SS												
Packaging: 72/1 OZ	4	case		\$0.00		21.4800	\$85.92	21.48		\$0.00			\$0.00	
CRACKER. CHEESE ON CHEESE: Austin or equal. 120/4 ct per case.														
Estimated monthly usage: 4 cases.														
Brand Name: AUSTIN (3770412)		SS												
Packaging: 192/.93 OZ	4	Сах		\$0.00		25.3600	\$101.44	25.36		\$0.00			\$0.00	
ANIMAL CRACKERS: 2 oz packs. Estimated monthly usage: 4 cases.														
AUSTIN QUALITY (3730553)		S												
Packaging: 100/1 OZ	4	case		\$0.00		15.9300	\$63.72	15.93		\$0.00			\$0.00	
MARGARINE: Pure Vegetable, water, salt, partially hydrogenated soybean														
and cottonseed oils, dry whey, lecithin, sodium benzoate and citric acid added														
as preservatives, artificial color, Vit A added, artificial flavoring. Packaged one (1) pound, thirty (30) to a case. Estimated monthly usage: 33 cases.														
Brand Name: Ventura	-	s												
		ound												
Packaging: 30/1 lb	990	No.	0.6875	\$680.63	20.63	0.7427	\$735.24	22.28	0.7000	\$693.00	21.00		\$0.00	
CHEESE: Ribbon slice, American processed, color yellow orange, U.S. Grade A, 6/5 pound containers per case. Estimated monthly usage: 25 cases	1													
	-	×.												
Brand Name: SCHOOLCHO (8736209)	-	pun												
Packaging: 4/5 LB	750	$_{\rm C}$	2.3612	\$1,770.90	70.84	2.2700	\$1,702.50	45.40	2.2900	\$1,717.50	45.80	2.3500	\$1,762.50	47.00
EGGS: Grade A, medium, fifteen (15) dozen to a carton. Estimated monthly	1													
usage: 35 cases.	-													
Brand Name: Maxim	-	pun												
Packaging: 1/15 doz	375	2	0.9339	\$350.21	14.01	1.2400	\$465.00	18.60	1.2380	\$464.25	18.57		\$0.00	

DEDDED DU (11 1 1 D (1 1 1 27)	I I			-	Т		T						
PEPPER: Blk, table grind. Pepper to be packaged in 25lb containers only. Estimated monthly usage: 50 pounds.													
Brand Name: Gulf Source 254895		Spu											
Packaging: 1/25#	50	Į.		\$0.00		5.6894	\$284.47	24.18	5.5900	\$279.50	139.75	\$0.00)
SALT: Iodized, table. Salt to be packaged in 25 lb. containers. Estimated monthly usage: 9 cases.		1 –		,									
Brand Name: UNITEDSALT (6313043)		S											
Packaging: 1/25 LB	225	uno.		\$0.00		0.1552	\$34.92	3.88	0.1700	\$38.25	8.50	\$0.00)
SUGAR: Pure cane, granulated, white, refined, packaged in multi-wall paper bag. Fifty (50) pound bag. Estimated monthly usage: 22 bags.													
Brand Name: Packer/ Slvr Sorce 91532		ŝ											
Packaging: 1/50#	225		0.4151	\$93.40	20.75	0.5540	\$124.65	27.70	0.3900	\$87.75	19.50	\$0.00)
POWDERED SUGAR: Powdered, confectioners, packaged in 50 pound bag. Estimated monthly usage: 4 bags.													
Brand Name: Packer/Slvr Sorce 333687		ugs.											
Packaging: 1/50#	200	No.	0.6940	\$138.80	34.70	0.7476	\$149.52	37.38	0.5400	\$108.00	27.00	\$0.00)
BROWN SUGAR: Brown sugar, light or medium, packaged in 50 pound bag. Estimated monthly usage: 3 bags.													
Brand Name: Packer/Slvr Sorce 260266	1	nds											
Packaging: 1/50#	150			\$0.00		0.7430	\$111.45	37.15	0.5000	\$75.00	25.00	\$0.00)
VINEGAR: White, distilled, plastic container, 4% acetic acid. Packaged six													
(6), one (1) gallon containers to a case. Estimated monthly usage: 2 cases.													
Brand Name: GARDENCLUB (5254552)		iii											
Packaging: 6/1 GAL	12 (5	1.7718	\$21.26	10.63	1.5933	\$19.12	9.56		\$0.00		\$0.00)
GARLIC POWDER: 1/22 oz. container. Estimated monthly usage: 14 each.													
Brand Name: Spice it 914189													
Packaging: 1/5 #	308		0.4280	\$131.82	8.13	0.3621	\$111.53	6.88	0.3100	\$95.48	24.40	\$0.00)
GRANULATED GARLIC: 1/22 oz. container. Estimated monthly usage: 80 each.													
Brand Name: Roma 261398		ices 2											
Packaging: 1/25#	1760		0.3719	\$654.54	9.30	0.3975	\$699.60	9.54	0.2300	\$404.80	92.00	\$0.00)
OREGANO: Packaged in a 12 oz. container. Estimated monthly usage: 10] [
Brand Name: Roma 233574		nces											
Packaging: 1/5#	120	5	0.6724	\$80.69	8.07	0.4733	\$56.80	5.68	0.3800	\$45.60	30.40	\$0.00)
BAYLEAVES: Packaged in a 2 oz. container. Estimated monthly usage: 16													
Brand Name: DURKEE (6181036)		30 20 30 30 30 30 30 30 30 30 30 30 30 30 30											
Packaging: 1/2 OZ	32	3		\$0.00		3.3150	\$106.08	6.63		\$0.00		\$0.00)
SWEET BASIL: Packaged in a 12 oz. container. Estimated monthly usage: 2]											
Brand Name: Roma 236592		Ces											
Packaging: 1/24 oz	24	5	1.1160	\$26.78	5.58	0.6400	\$15.36	3.52	0.4300	\$10.32	10.32	\$0.00)
TACO SEASONING MIX: Lawrys #80615, Dextrose, salt, corn flour, onion													
powder, cumin, garlic powder, citric acid, partially hydrogenated soybean													
oil, oregano, and silica gel added as an anti-caking agent. Packaged 6/9 oz. to a case. Estimated monthly usage: 10 cases.													
Brand Name: Sauer		ŝ											
Packaging: 1/6.5 #	540		0.3594	\$194.08	19.41	0.3070	\$165.80	16.58	0.2300	\$124.20	23.92	\$0.00	
CINNAMON: Ground. 14 oz. container. Estimated monthly usage: 8	2.3	1		Ψ1730	.0.11	0.5070	ψ105.00	. 3.30	0.2030	Ψ12.120		\$0.00	
containers. Brand Name: TEX SPICE (4442133)		ŝ											
Packaging: 1/5 LB	112			\$0.00		0.2341	\$26.22	18.73		\$0.00		\$0.00)
		_		,			7=4			+0.50		\$0.00	

PAPRIKA: Ground. 17.8 oz. container. Estimated monthly usage: 20													
Brand Name: Roma 264702		Ses											
Packaging: 1/5 #	356	Onn		\$0.00		0.3363	\$119.71	5.38	0.3000	\$106.80	24.00	\$0.00	
PARSLEY: Dehydrated. 2.6 oz. container. Estimated monthly usage: 8	550			ψ0.00		0.000	\$117.71	0.00	012000	φ20000	200	\$0.00	
Brand Name: Roma 264703		ses											
Packaging: 1/16oz	208	Onno		\$0.00		0.8931	\$185.77	9.86	0.7500	\$156.00	12.00	\$0.00	
CHILI POWDER: Gebhardts, Pepper pulp and other spices, fancy. 5 pound				7,0100			4.00			7		7000	
container. Estimated monthly usage: 10 containers.													
Brand Name: Roma 264675		spu											
Packaging: 1/5#	50	Pou		\$0.00		3.3917	\$169.58	20.35	3.3100	\$165.50	16.55	\$0.00	
ONIONS: Dried, chopped, U.S. Grade A. 25 pound container. Estimated monthly usage: 1 containers.		1 Г											
Brand Name: Sauer 902173		spc											
Packaging: 1/3 #	25	Pour		\$0.00		3.4407	\$86.02	51.61	3.2700	\$81.75	9.81	\$0.00	
BEEF BASE: Shall be produced from fine quality beef, salt, hydrolyzed				7,110			+****			7.0.0.0		70.00	
vegetable protein in beef fat. 25 lb. containers. Estimated monthly usage: 75													
Brand Name: Classic Gourmet		spu											
Packaging: 1/25 lb	75	Pou	1.7488	\$131.16	43.72	1.9773	\$148.30	59.32	1.7500	\$131.25	43.75	\$0.00	
CHICKEN BASE: Shall be prepared from fine roasted, table ready government inspected chicken meat. 25 lb. containers. Estimated monthly		1 Г											
Brand Name: Chef's Own 058569		spc											
Packaging: 1/25#	50	Pour		\$0.00		1.9773	\$98.87	59.32	1.8300	\$91.50	45.75	\$0.00	
LEMON PEPPER: 1/8 lb.container. Estimated monthly usage: 5 each.													
Brand Name: Gulf Source 1253940		spe											
Packaging: 1/7 #	40	Pour		\$0.00		5.3867	\$215.47	9.09	4.9700	\$198.80	34.79	\$0.00	
NUTMEG: Ground, 16 oz. container. Estimated monthly usage: 2 each.													
Brand Name: DURKEE (6184501)		spu											
Packaging: 1/16 OZ	2	Pou		\$0.00		12.4600	\$24.92	12.46		\$0.00		\$0.00	
CLOVES: Ground, 16 oz. container. Estimated monthly usage: 2 each.													
Brand Name: DURKEE (6183123)		nds											
Packaging: 1/16 OZ	2	Por		\$0.00		15.8400	\$31.68	15.84		\$0.00		\$0.00	
GROUND CUMINO: 16 oz. Container. Estimated monthly usage: 10 each		**											
Brand Name: Roma 264681		nude											
Packaging: 1/5 #	10	Po		\$0.00		4.2000	\$42.00	21.00	4.5500	\$45.50	22.75	\$0.00	
CAYENNE PEPPER: 1 lb. Container. Estimated monthly usage: 20 each		oo.											
Brand Name: Roma 264673		puno											
Packaging: 1/5#	20	ă		\$0.00		7.2300	\$144.60	7.23	4.1000	\$82.00	20.50	\$0.00	
GROUND CUMIN: 1 lb. Container. Reo. Estimated monthly usage: 12 each. Brand Name: Roma 264681		S.											
	10	no		60.00		5 4000	0<4.00	5.40	4.5500	A=4 CO	00.75	00.00	
Packaging: 1/5# CREAM OF TARTAR: 28oz. container. McCormick. Estimated monthly	12	<u> </u>		\$0.00	-	5.4000	\$64.80	5.40	4.5500	\$54.60	22.75	\$0.00	
usage:4 each.													
Brand Name: DURKEE (6183073)		Ses											
Packaging: 1/29 OZ	112			\$0.00		0.4962	\$55.57	14.39	0.5700	\$63.84	15.96	\$0.00	
LAWRY'S SEASON SALT: 5 lb. Container. Estimated monthly usage: 2		1			<u> </u>								
Brand Name: DURKEE (6191233)		spu											
Packaging: 1/5 LB	10	Pou	3.0939	\$30.94	61.88	2.0180	\$20.18	10.09	2.2000	\$22.00	22.00	\$0.00	
POULTRY SEASONING: 12oz. Container. McCormick. Estimated monthly													
usage: 5 each.		ω											
Brand Name: TEX SPICE (4449542)		nuq											
Packaging: 1/16 OZ	60	Po		\$0.00		4.3600	\$261.60	4.36		\$0.00		\$0.00	

The Control of the Co	COCOA: 5 lb. bag. Hershey's, ADM low fat 10-12% . Estimated monthly			1										
Detail Name Ambretis 16/24 20/25 20/														
SIGNATE Transact Colored Col	Brand Name: Ambrosia 916764		sp											
SIGNATE Transact Colored Col	Packaging: 1/5#	20	onn		\$0.00		5 3790	\$107.58	161.37	4.9800	\$99.60	24.90	\$0.00	
Bitted Name Gal PC 2-9436		- 20			ψ0.00		5.5770	Ψ107.50	101.01	13000	ψ	200	φ0.00	
SALAD DEEDSINNO: Thirty-Gre 125 per cent of all two hundred (2009 each 12 per cent of all two hundred (2009 each 12 per cent of all the hundred hundred hundred (2009 each 12 per cent of all principal bungs; 25 caces. NEWA Name (1971 (1943 (3)) SALAD DEEDSINNO: Thirty-Gre 125 per cent of all principal great (2014 (3)) SALAD DEEDSINNO: Thirty-Gre 125 per cent of all principal great (2014 (3)) SALAD DEEDSINNO: Thirty-Green (2014 (3)) SALAD DEED		1	spu											
SALAD DEEDSINNO: Thirty-Gre 125 per cent of all two hundred (2009 each 12 per cent of all two hundred (2009 each 12 per cent of all the hundred hundred hundred (2009 each 12 per cent of all principal bungs; 25 caces. NEWA Name (1971 (1943 (3)) SALAD DEEDSINNO: Thirty-Gre 125 per cent of all principal great (2014 (3)) SALAD DEEDSINNO: Thirty-Gre 125 per cent of all principal great (2014 (3)) SALAD DEEDSINNO: Thirty-Green (2014 (3)) SALAD DEED	Packaging: 1/32 0z	128	Pour		\$0.00		4.2080	\$538.62	5.26	0,2600	\$33,28	8.32	\$0.00	
Bloom Name Pril (1994 551) Company Bloom Name Pril (1994 551) Company Bloom Name	SALAD DRESSING: Thirty-five (35) per cent oil, two hundred (200) each 12		i i											
Producing 2013 CM 2013 CM 2014 201	gram individual packets per case. Estimated monthly usage: 35 cases.													
SALAD PRIESSING: Thirty-five (23) per cent oil, packaged fore (4) each one of pulse planting target or case. Estimated monthly usage: 11 case.	Brand Name: PPI (3394251)		ų											
10 gallon polastic jairs per cose. Editatised monthly usage: 21 Cases. 5	Packaging: 200/12 GM	7000	Eac	0.0521	\$364.70	10.41	0.0341	\$238.70	6.82		\$0.00		\$0.00	
Tare Assert Color Colo														
Package: 41 Cold MINTARD: Propared diretable acidity not less than 3% or more than 4%; See each 5 grams individual packets per case. Estimated monthly usage: 20	(1) gallon plastic jars per case. Estimated monthly usage: 11 cases.													
Package: 41 Cold MINTARD: Propared diretable acidity not less than 3% or more than 4%; S00 each 5 grams individual packets per case. Estimated monthly usage: 20 less than 2% or more than 4%; S00 each 5 grams individual packets per case. Estimated monthly usage: 20 less than 2% or more than 4%; S00 each 5 grams individual packets per case. Estimated monthly usage: 20 less than 2% or more than 4%; S00 each 5 grams individual packets per case. Estimated monthly usage: 40 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. Estimated monthly usage: 5 each 20 less than 2% or more than 4%; S00 each 5 grams packets per case. S00 each 5 grams p	Brand Name: Silver source 201324		su											
MISTARP: Prepared, titeratable acidity on the stum 3% or more than 4%. Society S. Spring (Widthed) packets proc. Editinated monthly mage; 30 Binned Name: AMERICANA (337257) Peakaging: 50145 55 0M MISTARP: Prepared, titeratable acidity not less than 3% or more than 4%. Peakaging: 50145 55 0M MISTARP: Prepared, titeratable acidity not less than 3% or more than 4%. Peakaging: 41 GAL CASISP: Tomato (I.S. Grade A, 3% solids, 50 each 9 gram pockets per case. Estimated monthly usage; 6 cases. CASISP: Tomato (I.S. Grade A, 3% solids, 50 each 9 gram pockets per case. Estimated monthly usage; 25 cases. CASISP: Tomato (I.S. Grade A, 3% solids, 50 each 9 gram pockets per case. Estimated monthly usage; 25 cases. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon plastic container. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon plastic container. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon plastic container. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon plastic container. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon plastic container. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon plastic container. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon plastic container. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon plastic container. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon plastic container. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon plastic container. CASISP: Tomato (I.S. Grade A, 3% solids, One (1) gallon		4.4	Fallc	6 2265	\$274.41	24.05	6 6700	\$202.40	26.60	5.0400	\$261.26	22.70	\$0.00	
Storage Stream individual process per case. Estimated monthly usage: 30		44	_	0.2303	\$274.41	24.95	0.0700	\$293.48	∠0.08	5.9400	\$201.30	23.76	\$0.00	
Brand Name: AMERICANA (373227)	500 each 5.5 gram individual packets per case. Estimated monthly usage: 30													
Packaging 500.15 CM 11.26 0.0110 516.40 5.48 5.00 5.00 5.00	Brand Name: AMERICANA (3372257)	1												
MUSTARD Prepared, Hirtalible acidity not less than 3% or more than 4%. Peakageff four (c) acid, nor (1) gallon plastic jurs per case. Estimated monthly usage: 6 cases. Brand Name: REDBOY (4575031) Peakaging: 40 GAL CATSUP: Tomato, U.S. Grade A., 33% solids. 500 cach 9 gram packets per case. Estimated monthly usage: 25 cases. Brand Name: REDBOY (4575031) Peakaging: 600 GAL CATSUP: Tomato, U.S. Grade A., 33% solids. 500 cach 9 gram packets per case. Estimated monthly usage: 12 grade and the control of the c	Packaging: 500/4 5 GM	15000	Sach	0.0225	\$337.50	11 26	0.0110	\$164.40	5 48		\$0.00		\$0.00	
Packaging of our (d) each, one (1) gallon plastic jars per case. Estimated monthly usage; e Geses. Brand Name: REDBOY (4578031) 24 E 0.3618 \$8.68 11.58 0.3359 \$8.06 10.75 \$0.00		13000	-	0.0223	\$337.30	11.20	0.0110	\$104.40	3.40		\$0.00		\$0.00	
Panal Name: REDBOY (4875031) 24 25 25 25 25 25 25 25														
Packaging: 471 GAL. 24 \$\begin{array}{ c c c c c c c c c c c c c c c c c c c	monthly usage: 6 cases.													
CATSUP: Tomato, U.S. Grade A, 33% solids. 500 each 9 gram packets per case. Estimated monthly usage; 2 cases.	Brand Name: REDBOY (4575031)		spt											
CATSUP: Tomato, U.S. Grade A, 33% solids. 500 each 9 gram packets per case. Estimated monthly usage; 2 cases.	Packaging: 4/1 GAL.	24	Pour	0.3618	\$8.68	11.58	0.3359	\$8.06	10.75		\$0.00		\$0.00	
Brand Name: RED GOLD (2280010) 22500	CATSUP: Tomato, U.S. Grade A, 33% solids. 500 each 9 gram packets per		i i					,			,			
Packaging: 1000 9GM 2500 2	case. Estimated monthly usage: 25 cases.													
Estimated monthly usage: 12 Estimated monthly usage: 22 Estimated monthly usage: 32 Estimated monthly usage: 33 Estimated monthly usage: 34 Estimated monthly usage: 35 Esti	Brand Name: RED GOLD (2280010)		ч											
Estimated monthly usage: 12 g Brand Name: WESICreek 878195 So.00 4.5222 S54.27 20.35 3.7500 22.50 So.00	Packaging: 1000/9GM	12500	Eac	0.0203	\$253.75	20.31	0.0146	\$182.13	14.57		\$0.00		\$0.00	
Brand Name: wESiCreek 878195 5	CATSUP: Tomato, U.S. Grade A, 33% solids. One (1) gallon plastic container.													
Packaging: 6/#10			st											
WORCESTERSHIRE SAUCE: Worcestershire sauce. Case pack 4/1 gallon. Estimated monthly usage: 3 cases. Packaging: 4/1 GAL DILL PICKLE RELISH: Cucumbers, water, salt, vinegar, sweet red peppers, sodium benzoned as a preservative, natural flavors, xanthan gum, alum, polysorbate 80 and FD & C yellow #5. Packaged four (4) each one (1) gallon containers to a case. Estimated monthly usage: 2 cases. Parad Name: BEST MAID (5162366) Packaging: 4/1 GAL DILL PICKLE RELISH: Cucumbers, water, salt, vinegar, sweet red peppers, sodium benzoned as a preservative, natural flavors, xanthan gum, alum, polysorbate 80 and FD & C yellow #5. Packaged four (4) each one (1) gallon containers to a case. Estimated monthly usage: 2 cases. Parad Name: BEST MAID (5162366) Packaging: 4/1 GAL DILL PICKLE RELISH: Cucumbers, water, salt, vinegar, sweet red peppers, sodium benzoned as a preservative, natural flavors, xanthan gum, alum, polysorbate 80 and FD & C yellow #5. Packaged four (4) each one (1) gallon containers to a case. Estimated monthly usage: 2 cases. Parad Name: First QLTY (5888899) Packaging: 4/1 GAL DILL PICKLE RELISH: Cucumbers, water, salt, vinegar, sweet red peppers, sodium benzoned as a preservative, natural flavors, xanthan gum, alum, polysorbate 80 and FD & C yellow #5. Packaged four (4) each one (1) gallon containers to a case. Estimated monthly usage: 2 cases. Packaging: 4/1 GAL DILL PICKLE RELISH: Cucumbers, water, salt, vinegar, sweet red peppers, sodium benzoned as a preservative, natural flavors, xanthan gum, alum, polysorbate 80 and FD & 44.91 DILL PICKLE RELISH: All Solve States of Solve			allor											
Estimated monthly usage: 3 cases.	5 5	12	Ü		\$0.00		4.5222	\$54.27	20.35	3.7500	\$45.00	22.50	\$0.00	
Brand Name: CAJUN CHEF (3596658) 2														
Packaging: 4/1 GAL DILL PICKLE RELISH: Cucumbers, water, salt, vinegar, sweet red peppers, sodium benzoate as a preservative, natural flavors, xanthan gum, alum, polysorbate 80 and FD & Cycllow 45. Packaged four (4) each one (1) gallon containers to a case. Estimated monthly usage: 2 cases. Brand Name: BEST MAID (5162356) Packaging: 4/1 GAL DILL PICKLE RELISH: Cucumbers, water, salt, vinegar, sweet red peppers, sodium benzoate as a preservative, natural flavors, xanthan gum, alum, polysorbate 80 and FD & Cycllow 45. Packaged four (4) each one (1) gallon containers to a case. Estimated monthly usage: 2 cases. Brand Name: FIRST QLITY (588899) Packaging: 4/1 GAL BAR-B-QUE SAUCE: Tomato puree, sugar, vinegar, worcestershire sauce, spices, molasses, salt, modified food starch, hickory smoke, paprika, red and black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated monthly usage: 7 cases. Brand Name: Little Pig 948592		1	suc											
DILL PICKLE RELISH: Cucumbers, water, salt, vinegar, sweet red peppers, sodium benzoate as a preservative, natural flavors, xanthan gum, alum, polysorbate 80 and FD & C yellow #5. Packaged four (4) each one (1) gallon containers to a case. Estimated monthly usage: 2 cases. Brand Name: BEST MAID (5162356) Packaging: 4/1 GAL Dialon containers. Estimated monthly usage: 2 containers. Brand Name: FIRST QLTY (5888899) Packaging: 4/1 GAL Dialon containers. Estimated monthly usage: 2 containers. Brand Name: FIRST QLTY (5888899) Packaging: 4/1 GAL Dialon containers. Estimated monthly usage: 2 containers. Brand Name: Pirst Quity (5888899) Packaging: 4/1 GAL Dialon containers are stimated monthly usage: 3 containers. Brand Name: Pirst Quity (5888899) Dialon containers are stimated monthly usage: 4/1 GAL Dialon containers are stimated monthly usage: 5 containers. Dialon containers are stimated monthly usage: 6 c.2524 \$12.50 \$10.23 \$20.46 \$0.00 \$0.0		12	Sallc	3 7420	\$44.01	14 07	3 5050	\$42.06	14.02		\$0.00		00.02	
sodium benzoate as a preservative, natural flavors, xanthan gum, alum, polysorbate 80 and FD & C yellow #5. Packaged four (4) each one (1) gallon containers to a case. Estimated monthly usage: 2 cases. Brand Name: BEST MAID (5162356) Packaging: 4/1 GAL Packaging:		12	-	3.1429	φ ++ .91	14.37	3,3030	φ+2.00	14.02		φυ.00		φυ.υυ	
polysorbate 80 and FD & C yellow #5. Packaged four (4) each one (1) gallon containers to a case. Estimated monthly usage: 2 cases. Brand Name: BEST MAID (5162356) Packaging: 4/1 GAL Brand Name: FIRST QLTY (5888899) Packaging: 4/1 GAL BAR-QUE SAUCE: Tomato puree, sugar, vinegar, worcestershire sauce, polices, molasses, salt, modified food starch, hickory smoke, paprika, red and black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated monthly usage: 7 cases. Brand Name: Little Pig 948592	sodium benzoate as a preservative, natural flavors, xanthan gum, alum,													
Brand Name: BEST MAID (5162356) Packaging: 4/1 GAL Packaging: 4/1 GAL 6.2524 \$12.50 25.01 5.1150 \$10.23 20.46 \$0.00 \$0.00 IMITATION VANILLA FLAVORING: Imitation, plastic. Packaged in one (1) callon containers. Estimated monthly usage: 2 containers. Brand Name: FIRST QLTY (5888899) Packaging: 4/1 GAL Packaging: 4	polysorbate 80 and FD & C yellow #5. Packaged four (4) each one (1) gallon													
Packaging: 4/1 GAL MITTATION VANILLA FLAVORING: Imitation, plastic. Packaged in one (1) gallon containers. Estimated monthly usage: 2 containers. Brand Name: FIRST QLTY (5888899) Packaging: 4/1 GAL BAR-B-QUE SAUCE: Tomato puree, sugar, vinegar, worcestershire sauce, spices, molasses, salt, modified food starch, hickory smoke, paprika, red and black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated monthly usage: 7 cases. Brand Name: Little Pig 948592 Eact		1	S											
MITATION VANILLA FLAVORING: Imitation, plastic. Packaged in one (1) callon containers. Estimated monthly usage: 2 containers. Brand Name: FIRST QLTY (5888899) Packaging: 4/1 GAL BAR-B-QUE SAUCE: Tomato puree, sugar, vinegar, worcestershire sauce, spices, molasses, salt, modified food starch, hickory smoke, paprika, red and black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated monthly usage: 7 cases. Brand Name: Little Pig 948592	, ,		allor											
(1) callon containers. Estimated monthly usage: 2 containers. Brand Name: FIRST QLTY (5888899) packaging: 4/1 GAL 6.8744 \$13.75 27.50 4.1650 \$8.33 16.66 \$0.00 \$0.00 BAR-B-QUE SAUCE: Tomato puree, sugar, vinegar, worcestershire sauce, spices, molasses, salt, modified food starch, hickory smoke, paprika, red and black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated monthly usage: 7 cases. Brand Name: Little Pig 948592		2	Ŭ	6.2524	\$12.50	25.01	5.1150	\$10.23	20.46		\$0.00		\$0.00	
Brand Name: FIRST QLTY (5888899) Packaging: 4/1 GAL BAR-B-QUE SAUCE: Tomato puree, sugar, vinegar, worcestershire sauce, spices, molasses, salt, modified food starch, hickory smoke, paprika, red and black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated monthly usage: 7 cases. Brand Name: Little Pig 948592														
Packaging: 4/1 GAL BAR-B-QUE SAUCE: Tomato puree, sugar, vinegar, worcestershire sauce, spices, molasses, salt, modified food starch, hickory smoke, paprika, red and black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated monthly usage: 7 cases. Brand Name: Little Pig 948592		1	su											
BAR-B-QUE SAUCE: Tomato puree, sugar, vinegar, worcestershire sauce, spices, molasses, salt, modified food starch, hickory smoke, paprika, red and black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated monthly usage: 7 cases. Brand Name: Little Pig 948592		_	allo	6 0744	612.75	07.50	4.1650	\$9.22	40.00		60.00		60.00	
spices, molasses, salt, modified food starch, hickory smoke, paprika, red and black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated monthly usage: 7 cases. Brand Name: Little Pig 948592		- 2		0.8/44	\$15.75	21.50	4.1050	\$8.33	16.66		\$0.00		\$0.00	
black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated monthly usage: 7 cases. Brand Name: Little Pig 948592														
monthly usage: 7 cases. Brand Name: Little Pig 948592	black pepper. Packaged one (1) gallon, four (4) gallons to a case. Estimated													
	monthly usage: 7 cases.	I												
Packaging: 4/1 Gal 28 💆 4.4126 \$123.55 17.65 3.7975 \$106.33 15.19 3.7500 \$105.00 \$0.00	Brand Name: Little Pig 948592		lons											
	Packaging: 4/1 Gal	28	Ga	4.4126	\$123.55	17.65	3.7975	\$106.33	15.19	3.7500	\$105.00	15.00	\$0.00	

ASSORTED JELLIES (PORTION CONTROL): As assorted, fancy, U.S.													1
Grade A. 200 each 1/2 oz. packets/case. Estimated monthly usage: 5 cases.													
Brand Name: Diamond Crystal		lons											
Packaging: 200/10 gm	1000	0.0	0338	\$33.80	6.76	0.0344	\$34.40	6.88		\$0.00		\$0.00	
ITALIAN DRESSING (SALAD): Soybean oil, water, cider vinegar, salt, corn													
sweetener, lemon flavor, dehydrated onions, natural garlic flavor, natural													
onion flavor, pepper, spices. Packaged 4/1 gallon containers to a case. Estimated monthly usage: 16 gallons.													
Brand Name: Silver source 201320		Si S											
		allor											
Packaging: 4/1 Gallon	16	7.2	2212	\$115.54	28.88	9.7000	\$155.20	38.80	8.0000	\$128.00	32.00	\$0.00	
FRENCH DRESSING (SALAD): Soybean oil, corn sweetener, water, vinegar, salt, spices. Packaged 4/1 gallon container to a case. Estimated monthly													
usage: 4 gallons.													
Brand Name: silver source 201317	1	suc											
Packaging: 4/1 Gallon	1	All Carlo		\$0.00		9.5325	\$38.13	38.13	8.5700	\$34.28	34.28	\$0.00	
1000 ISLAND DRESSING (SALAD): Packaged 4/1 gallon container to a case.	-	<u> </u>		\$0.00		7.3323	\$36.13	30.13	0.5700	φ3 4. 20	34.20	\$0.00	
Estimated monthly usage: 4 gallons.													
Brand Name: silver source 301616	1	suo											
Packaging: 4/1 Gallon	Λ	a 1	1350	\$36.54	36.54	9.6300	\$38.52	38.52	8.8500	\$35.40	35.40	\$0.00	
RANCH DRESSING(SALAD): Packaged 4/1 gallon container to a case.	╅	5.1	.550	ψ50.54	30.34	7.0300	20.52	30.32	0.0500	φυυ10	33.70	φυ.υυ	
Estimated monthly usage: 12 gallons.													
Brand Name: Salad Bistro		ous											
Packaging: 4/1 gal	12	9.5	5294	\$114.35	38.12	9.7400	\$116.88	38.96	9.6500	\$115.80	38.60	\$0.00	
PICANTE SAUCE: Tomatoes, water, onions, fresh peppers, vinegar, salt and				, , , , ,			,					,	
spices. 4/1 gallon to a case. Estimated monthly usage: 3 cases.													
Brand Name: RED GOLD (2280011)		ous											
Packaging: 6/#10	12	Te 5	1929	\$125.91	41.97	5.9244	\$71.09	26.66		\$0.00		\$0.00	
TACO SAUCE: 200/9 gr. per case. Estimated monthly usage: 40 cases.													
Brand Name: POCO PAC (3292470)													
Packaging: 200/9 GM	8000	0.0	0408	\$326.40	8.16	0.0245	\$195.60	4.89		\$0.00		\$0.00	
CHEDDARCHEESE SAUCE: #10 can. 6 cans to a case. IHS.Estimated	0000	- 0.0	7.00	ψ520.10	0.10	0.02.10	φ150100			φσ.σσ		φο.σσ	
monthly usage: 16 cases.													
Brand Name: GREATPLAIN (2722877)	1												
Packaging: 6/10	96	su 10.2	2688	\$985.80	61.61	4.4767	\$429.76	26.86	4.6700	\$448.32	28.02	\$0.00	
LIGHT CORN SYRUP: 1 gallon container. 4 containers per case. Karo.	70	10.2	2000	Ψ703.00	01.01	4.4707	ψ425.76	20.00	4.0700	ψ140.32	20.02	ψ0.00	
Estimated monthly usage: 2 cases.													
Brand Name: Garden Club 868167		suc											
Packaging: 4/1 Gallon	Я	lig 62	2047	\$49.64	24.82	5.9875	\$47.90	23.95	5.8800	\$47.04	23.52	\$0.00	
DARK CORN SYRUP: 1 gallon container. 4 containers per case.	ď	0.2		ψ	24.02	5.7615	Ψ-1.20	_0.00	2.0000	Ψ77.07	20.02	\$0.50	
Karo.Estimated monthly usage: 2 cases.													
Brand Name: Home Brand 898182		ous											
Packaging: 4/1 Gallon	8	TE 13.1	1929	\$105.54	52.77	12.2025	\$97.62	48.81	11.0000	\$88.00	44.00	\$0.00	
SWEET AND SOUR SAUCE: 1/1 gallon per case. Kraft. Monthly usage: 2	Ť	13.1		,	22	12020	427.02	70.01	22.0003	φυσισο	00	+	
cases.													
Brand Name: La C hoy 057026		suo											
Packaging: 1/1 gallon	2	Gall		\$0.00		15.4700	\$30.94	15.47	15.3000	\$30.60	15.30	\$0.00	
HORSERADISH SAUCE: 1/32 oz per case. Kraft. Monthly usage: 2 cases.	T	1					44.47			72.1.30			-
Brand Name: TULKOFF (2424455)		Ses											
Packaging: 1/32 OZ	64	ano		\$0.00		0.1634	\$10.46	5.23		\$0.00		\$0.00	
RED TABASCO: 5 oz. 12 per case. Estimated monthly usage: 3 cases.		1 —		+ 3.00			Ψ201.0	J.23	<u> </u>	ψ0.00		+	
Brand Name: MCILHENNY (3276037)	1	ses											
Packaging: 12/5 OZ	180	ŭ o s	5058	\$109.04	36.35	0.5722	\$102.99	34.33		\$0.00		\$0.00	
GREEN TABASCO: 5 oz. 12 per case. Estimated monthly usage: 3 cases.	100	0.6	2020	φ1U7.U4	JU.JJ	0.3744	φ102.39	34.33		\$0.00		φυ.υυ	
Brand Name: MCILHENNY (3274511)		8											
	I	nuc											
Packaging: 12/5 OZ	180	0.6	5058	\$109.04	36.35	0.5722	\$102.99	34.33		\$0.00		\$0.00	

A-1 STEAK SAUCE: 1 gallon container. Estimated monthly usage: 2 gallons					I							
Brand Name: A-1 (3613668)		su										
		allo	40.0004	***	24.22	2 (= 200	***	70 40		ATT 00	75.00	40.00
Packaging: 2/1 GAL SOY SAUCE: 4/1 gallon plastic containers. Estimated monthly usage: 2 cases.	2	Ď	40.9924	\$81.98	81.98	36.7300	\$73.46	73.46	37.5000	\$75.00	75.00	\$0.00
		S										
Brand Name:		Illon										
Packaging:	8	ථි	4.2300	\$33.84	16.92	7.8850	\$63.08	31.54	7.8000	\$62.40	31.20	\$0.00
HINES 57 SAUCE: 12/15 oz. bottles. Estimated monthly usage: 2												
Brand Name: HEINZ (3615010)		nces										
Packaging: 12/15 OZ	360	nO		\$0.00		0.3039	\$109.40	54.70		\$0.00		\$0.00
PEPPER SAUCE: 12/6 oz. bottles. 24 per case. Trappey's. Estimated												
Monthly usage: 1 case.												
Brand Name: Cajun Chef		nce										
Packaging: 24/6 oz	72	Õ	0.1032	\$7.43	14.86	0.1885	\$13.57	13.57	0.1600	\$11.52	23.04	\$0.00
HONEY: 6/6 lb. containers. Burleson. Estimated monthly usage: 4 gallons.												
Brand Name: YOUNGBLOOD (4725511)	Į	llon										
Packaging: 1/6LB	4	Qa		\$0.00		5.9300	\$23.72	17.79		\$0.00		\$0.00
APPLE CIDER VINEGAR: 1 gallon container. 6 gallons to a case. Heinz.												
Brand Name: WeStCreek 273719		lons										
Packaging: 4/1 Gallon	6	Gal		\$0.00		4.4750	\$26.85	26.85	4.2500	\$25.50	17.00	\$0.00
CAJUN CHEF SLICED PICKLES: 5 gallon container. Estimated monthly												
usage: 3, 5 gallon container.		ω.										
Brand Name: WestCreek 373230		llon										
Packaging: 1/5 gal	15	Gal		\$0.00		3.1440	\$47.16	15.72	3.1400	\$47.10	15.70	\$0.00
SYRUP, MADIERA FARMS 8011934: 1.5 ounce container. 100 in a												
case.Estimated monthly usage: 3 cases Brand Name: AMERICANA (4655585)												
		ses										
Packaging: 100/1.5 OZ	3	es		\$0.00		6.8000	\$20.40	6.80		\$0.00		\$0.00
RANCH DRESSING - LOW FAT: Pouch. 60/1.5oz per case. Estimated monthly usage: 10 boxes.												
Brand Name: KEN'S (3479041)												
, ,		oxe										
Packaging: 60/1.5 OZ	10	ğ		\$0.00		14.3500	\$143.50	14.35		\$0.00		\$0.00
RANCH DRESSING - KENS - LOW FAT: Pouch. 100/1.5oz per box. Estimated monthly usage: 10 boxes.												
Brand Name: GRAND GOUR (5015014)												
		oxe										
Packaging: 100/1.5 OZ	10	ğ		\$0.00		14.7900	\$147.90	14.79		\$0.00		\$0.00
BAKING POWDER: Type 1, sodium-aluminum sulfate and orthophosphate. Ten (10) pound package. Estimated monthly usage: 3 packages.												
Brand Name: DIAM CRYST (6390009)	1	SE										
		unc							,			
Packaging: 6/5 LB. COPNIMEAL Plain graphylated gourse regular valley. Twenty Five (25)	30	ď		\$0.00		1.2687	\$38.06	38.06	1.4300	\$42.90	42.90	\$0.00
CORNMEAL: Plain, granulated, course, regular, yellow. Twenty-Five (25) pound package. Estimated monthly usage: 5 package.												
Brand Name: SHAWNEE (3844539)	1	qs										
` '	100	ùno	0.41.52	050.04	40.44	0.255	0.47.00	0.44	0.2040	040.0=	0.05	фо оо
Packaging: 1/25 LB	125	ਰੂ	0.4163	\$52.04	10.41	0.3776	\$47.20	9.44	0.3940	\$49.25	9.85	\$0.00
FLOUR: All purpose, bleached, enriched, regular. Fifty (50) pound package. Estimated monthly usage: 11 packages.												
Brand Name: Cargill 931287	1	st										
		unc	0.000	00440-	40.55	0.045	AA0# 5	45.53	0.205	A40.	45.55	40.00
Packaging: 1/50 # SPACHETTI Plain regular lang form. Pure #1 Sameling angieled. 2/10	650	<u>ď</u>	0.3306	\$214.89	16.53	0.3186	\$207.09	15.93	0.3000	\$195.00	15.00	\$0.00
SPAGHETTI: Plain, regular, long form. Pure #1 Semolina, enriched. 2/10 pound packages. Estimated monthly usage: 30 cases.												
Brand Name: Luigi 256747	1	SE										
*		unc		0.45	0	0		,		4		
Packaging: 2/10 #	600	Ā	1.0382	\$622.92	20.76	0.7525	\$451.50	15.05	0.6600	\$396.00	13.20	\$0.00

MACARONI: Elbow, #1 Semolina, enriched, plain, regular. 2/10 pound			ı		1			1				
package. Estimated monthly usage: 80 cases.												
Brand Name: Luigi 251644		qs										
Packaging: 2/10 #	1600	uno	1.0382	\$1,661.12	20.76	0.6950	\$1,112.00	13.90	0.6700	\$1,072.00	13.40	\$0.00
BAKING SODA: Case pack 12/1 lb. Estimated monthly usage: 5 Cases.	1000		1.0302	\$1,001.12	20.70	0.0730	\$1,112.00	15.50	0.0700	φ1,072.00	13.40	\$0.00
Brand Name: Gilster		र् _प										
Packaging: 24/1 lb		uno	0.6501	#20.55	45.00	1 4017	#04.10	40.00	0.0000	\$58.80	00.50	\$0.00
OATMEAL: Quick-cooking. Case pack to be twelve (12) each forty-two (42)	60	<u>a</u>	0.6591	\$39.55	15.82	1.4017	\$84.10	16.82	0.9800	\$58.80	23.52	\$0.00
ounce. Estimated monthly usage: 12 cases.												
Brand Name: Gilster 073974		ş										
Packaging: 1/50 #	6048	Om		\$0.00		0.0439	\$265.73	35.15	0.0390	\$235.87	31.20	\$0.00
ENRICHED QUICK GRITS: Enriched quick grits, 100%, packaged 12/3 lb.		T										
Estimated monthly usage: 8 cases.												
Brand Name: hospitality 993375		spur										
Packaging:	288	Рог		\$0.00		1.0839	\$312.16	19.51	0.7200	\$207.36	36.00	\$0.00
DRY PINTO BEANS: U.S. Grade A, Pre-washed, 50 lb. sack. Estimated												
monthly usage: 22 sacks.												
Brand Name: JACKRABBIT (4356010)		nnd										
Packaging: 1/50 LB	48	Po	0.7617	\$36.56	38.09	0.6262	\$30.06	31.31	0.8200	\$39.36	41.00	\$0.00
ENRICHED WIDE EGG NOODLES: 100% durum patent flour with 5.5%		I [
egg solids, 10 lb. box. Estimated monthly usage: 15 boxes.		20										
Brand Name: Gilster 991275		spun a										
Packaging: 1/10#	150	Po	1.4230	\$213.45	14.23	1.1350	\$170.25	11.35	0.9620	\$144.30	9.62	\$0.00
LASAGNA NOODLES: #1 Semolina, enriched, plain, regular, 10 lb. box. Estimated monthly usage: 5 boxes.												
Brand Name: ZEREGA'S (4189511)		<u>s</u>										
		pund										
Packaging: 12/16 OZ	50	- P		\$0.00		0.9933	\$49.67	11.92		\$0.00		\$0.00
POWDERED MILK: Non-fat dray, U.S. premium, pasteurized milk, bacterial count not over 50,000 per gram. Packaged 50 pound sack. Estimated monthly												
usage: 8 sacks.		80										
Brand Name: RAMSEN (8206542)		pund										
Packaging: 1/50 LB	400	P.		\$0.00		1.3354	\$534.16	66.77		\$0.00		\$0.00
CORN STARCH: 24/16 oz. per case. Estimated monthly usage: 2 case.												
Brand Name: ARGO (6453005)		spun spun										
Packaging: 24/16 OZ	48	Po		\$0.00		0.8021	\$38.50	19.25		\$0.00		\$0.00
TEXAS TWIST ROTINI: 2/10 lb. per case. Estimated monthly usage: 5 cases.												
Brand Name: OB MAC (4176219)		spun spun spun spun spun spun spun spun										
Packaging: 1/20 LB	100	Pot		\$0.00		0.7525	\$75.25	15.05		\$0.00		\$0.00
RICE, LONG GRAIN: Long grain, US No. 1. Packaged 50 pound bags.		Π										
Brand Name: FALCON (4232022)		spu										
Packaging: 1/50 LB	2200	Pou	0.4159	\$914.98	20.80	0.3672	\$807.84	18.36	0.3770	\$829.40	18.85	\$0.00
COMPLETE CORNBREAD MIX: Enriched cornmeal, enriched flour,												
vegetable shortening, sugar, leavening, buttermilk solids, dextrose, salt,												
powdered cellulose, eggs. Case pack of six (6) each 5 pound. Estimated monthly usage: 52 each.												
Brand Name: Hospitality 957643		qs										
Packaging: 1/50 #	1560	uno	0.8118	\$1,266.41	24.35	0.7320	\$1,141.92	21.96	0.6500	\$1,014.00	32.50	\$0.00
PEANUT BUTTER: U.S. Grade A, smooth. Case pack 6/5lb containers.	1300	<u>-</u>	0.0118	\$1,200.41	24.33	0.7520	\$1,141.92	21.90	0.0500	\$1,014.00	32.30	φυ.υυ
Estimated monthly usage: 30 pounds.												
Brand Name: GARDENCLUB (4518107)		spu										
Packaging: 6/5 LB	30	Pou		\$0.00		1.7803	\$53.41	53.41		\$0.00		\$0.00
MALT-O-MEAL #338-376 or CREAM OF WHEAT: Quick-cooking. Case		- -		40.00			4	,		73.30		
pack to be 12/24 oz. Estimated monthly usage: 13 cases.												
Brand Name: Gilster 904432		Sec										
Packaging: 1/50 #	3744	mo	0.1378	\$515.92	46.30	0.0904	\$338.52	21.70	0.0450	\$168.48	36.00	\$0.00

PARMESAN CHEESE: grated. 12/16 oz containers. 6 containers per case.		T	1	1							. .	1	
Kraft. Estimated monthly usage: 3 cases.													
Brand Name: SCHREIBER (8683096)		SS											
Packaging: 12/16 OZ	576	Jun Cum	\$0.00		0.3054	\$175.89	58.63		\$0.00			\$0.00	
SWEETENED CONDENSED MILK: 14 oz cans. 24 cans per case. Eagle		-											
Brand only. Estimated monthly usage: 1 cases.													
Brand Name: Rolling Meadows 272184		oces											
Packaging: 24/14 oz	336	0.1539	\$51.71	44.33	0.1240	\$41.66	41.66	0.1071	\$35.99	35.99		\$0.00	
EVAPORATED MILK: 12 fl oz. 24 cans per case. Hytop. Estimated													
monthly usage: 1 cases.		so.											
Brand Name: Velvet 359541		ince ince											
Packaging: 24/12 oz	288	5 0.070 <i>6</i>	\$20.33	20.33	0.0689	\$19.85	19.85	0.0660	\$19.01	19.01		\$0.00	
TACO SHELLS: 200 ct. 5.5 lb box. Rodriquez. Estimated monthly usage: 4													
Brand Name: Mission													
		acp.	0.45.50	44.00	0.0520	\$51.00	40.77	0.0644	651.50	40.00		#0.00	
Packaging: 200/5" BAKING MIX: 6/5 lb. box. Pioneer. Estimated monthly usage: 4 cases	800	<u>0.0594</u>	\$47.52	11.88	0.0639	\$51.08	12.77	0.0644	\$51.52	12.89		\$0.00	
	•	∞											
Brand Name: PIONEER (3913506)		DIA CONTRACTOR OF THE CONTRACT											
Packaging: 6/5 LB	120	1.1686	\$140.23	35.06	1.0863	\$130.36	32.59		\$0.00			\$0.00	
CROUTONS: 10 lb. bags. 12 bags per case. Rothbury's. Estimated monthly usage: 5 cases.		1											
Brand Name: WestCrk 141917	1 .	∞											
		puno											
Packaging: 1/10 #	60	2.2055	\$132.33	22.06	1.9900	\$119.40	19.90	1.9000	\$114.00	19.00		\$0.00	
COOKING RELEASE: 17 oz cans. 6 cans per case. Vegalean. Estimated monthly usage: 6 cases.													
Brand Name: Silver Source 898859		88											
Packaging: 6/17 oz	612	0.1758	\$107.59	17.94	0.1562	\$95,58	45.00	0.1270	\$83.84	13.97		\$0.00	
TEA: Lipton only. 10/100 ct. Estimated monthly usage: 12 cases.	612	0.1758	\$107.59	17.94	0.1562	\$95.58	15.93	0.1370	\$83.84	13.97		\$0.00	
Brand Name: LIPTON (8292005)													
\$ 7		ach											
Packaging: 10/100 CT	12000	B 0.0417	\$500.40	41.73	0.0371	\$445.08	37.09		\$0.00			\$0.00	
COFFEE FILTERS: 1000 ct. Mr. Coffee Estimated monthly usage: 12 cases.													
Brand Name: BUNN (8247124)		មុ											
Packaging: 1/1000 CT	12000	0.0086	\$103.20	8.58	0.0079	\$94.32	7.86		\$0.00			\$0.00	
LIQUID SHORTING: vegetable or corn. Clear Only. 35 lb jug. Frosty													
Brand Name: Silver Source		Sp											
Packaging: 1/35#	2835	0.7478	\$2,120.01	26.17	0.7843	\$2,223.45	27.45	0.6900	\$1,956.15	24.15	0.8400	\$2,381.40	29.40
GRAM CRACKER CRUMBS: 1/10 lb bags. Nabisco. Estimated monthly		7 F											
Brand Name: NABISCO (3756004)		pu											
Packaging: 2/5 LBS.	10	2.1536	\$21.54	21.54	2.0860	\$20.86	20.86		\$0.00			\$0.00	
DRY BLACK-EYE PEAS: US Grade A, Prewashed, 20 lb sack. Estimated													
monthly usage: 20 sacks.													
Brand Name: Peak		Spun											
Packaging: 1/20 lb	400	1.3410	\$536.40	26.82	1.4625	\$585.00	29.25	1.3750	\$550.00	27.50		\$0.00	
DRY LIMA BEANS, LARGE: US Grade A, Prewashed, 25lb sack.		7 F											
Estimated monthly usage: 20 sacks.		_s											
Brand Name: JACKRABBIT (4338505)		nnd											
Packaging: 1/20 LB	500	1.4178	\$708.90	28.36	1.2830	\$641.50	25.66	1.2850	\$642.50	25.70		\$0.00	
RAISINS SEEDLESS, 30 lb. Estimated monthly usage: 60 lbs.		<u>.</u>]											
Brand Name: SUND/THOMP (790550)	I .	Ď											
	1												

INSTANT/POWDER POTATOES, 6/#10 Estimated monthly usage: 12 each.	I 1		1										
Brand Name: TRUERECIPE (2092500)	1												
Packaging: 6/#10	12	rach		\$0.00		6.6667	\$80.00	40.00		\$0.00		\$0.00	
CHOCOLATE CHIPS, 1/10 lb bag. (Ambrosia) Adm cocoa, Sugar, chocolate	12	7		ψ0.00		0.0007	ψου.υυ	40.00		ψ0.00		φ0.00	
liquor, cocoa butter, butter fat (milk), soy lecithin added as an emulsifier, and													
vanilla. Estimated monthly usage: 5 bags or 50 lbs.													
Brand Name Hersheys 061125	↓ I'	spun											
Packaging: 1/25 #	50	Po	4.4306	\$221.53	44.31	2.4332	\$121.66	60.83	2.3800	\$119.00	59.50	\$0.00	
SWEETENED FLAKE COCONUT: (Trailblazer Food) Coconut, sugar,													
water, propylene, glycol (sustains freshness) salt, sodium, metabisulfite (retains whiteness) contains: sulfites. 5/2 lb bags. Estimated monthly usage: 3													
bags each.													
Brand Name: Unipro	1	g											
Packaging: 1/10 lb	6	Poun	1.8868	\$11.32	18.87	2.1960	\$13.18	21.96		\$0.00		\$0.00	
JET PUFFED MARSHMALLOWS: (Kraft foods) corn syrup, sugar, modified	ı		2.0000	,						40100		40100	
corn starch, dextrose, water, gelatin, artificial flavor tetrasodium,													
pyrophosphate (whipping added), artificial color (blue) Est. monthly usage 4 Bags. Packaging: 12/1 lb bags													
Brand Name: Kraft 041978	1 .	S											
	1 J	onno	2 1002	00.75	00.00	1.9333	A. 7.	00.00	1.5540	00.00	40.05	\$0.00	
Packaging: 12/1 # YELLOW CORN TORTILLAS, 6" (Mission Food Service) Whole grain corn,	4	<u>v</u>	2.1882	\$8.75	26.26	1.9333	\$7.73	23.20	1.5540	\$6.22	18.65	\$0.00	
water, cellulose gum, prop ionic acid (to preserve freshness), benzoic acid,													
phosphoric acid (to preserve freshness) guar gum, amylase, lime.													
Estimated Monthly usage: 8 cases													
D 131 I E 1 0/0/10	-												
Brand Name: Lopez Foods 240118	 	o O											
Packaging: 6/120	5760	ชื่อ	0.4211	\$2,425.54	25.26	0.2388	\$1,375.20	17.19	0.0240	\$138.24	17.28	\$0.00	
RICE, BROWN WHOLE GRAIN: Uncle Bens. Estimated Monthly usage: 25	Ì												
Brand Name Uncle Bens 043257	1												
		spc											
Packaging: 1/25#	25	Pounds	1.1706	\$29.27	29.27	1.1084	\$27.71	27.71	1.0880	\$27.20	27.20	\$0.00	
Packaging: 1/25# DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid,	25	Pounds	1.1706	\$29.27	29.27	1.1084	\$27.71	27.71	1.0880	\$27.20	27.20	\$0.00	
	25	Pounds	1.1706	\$29.27	29.27	1.1084	\$27.71	27.71	1.0880	\$27.20	27.20	\$0.00	
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases.	25	Pounds	1.1706	\$29.27	29.27	1.1084	\$27.71	27.71	1.0880	\$27.20	27.20	\$0.00	
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212)		Pounds											
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10	25	Ounces	1.1706 8.5782	\$29.27 \$9,264.46	29.27 51.47	1.1084 0.0802	\$27.71 \$86.57	27.71 46.17	1.0880 0.0802	\$27.20 \$86.62	27.20 46.17	\$0.00	
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212)		Ounces											
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6)		Ounces											
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases.		Ounces											
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6)		ns ounces Pounds											
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: STOKELY (1803105) Packaging: 6/#10		Cans Ounces											
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: STOKELY (1803105) Packaging: 6/#10 POTATOES: Diced new potatoes, peeled, fancy, minimum 3/8 inch.	1080	Cans Ounces	8.5782	\$9,264.46	51.47	0.0802	\$86.57	46.17		\$86.62		\$0.00	
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: STOKELY (1803105) Packaging: 6/#10	1080	Cans Ounces	8.5782	\$9,264.46	51.47	0.0802	\$86.57	46.17		\$86.62		\$0.00	
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: STOKELY (1803105) Packaging: 6/#10 POTATOES: Diced new potatoes, peeled, fancy, minimum 3/8 inch. Minimum drained weight 74 ounces per number ten can. Case pack six (6)	1080	Cans Ounces	8.5782	\$9,264.46	51.47	0.0802	\$86.57	46.17		\$86.62		\$0.00	
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: STOKELY (1803105) Packaging: 6/#10 POTATOES: Diced new potatoes, peeled, fancy, minimum 3/8 inch. Minimum drained weight 74 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 10 cases. Brand Name: West Crk 863489	270	ans Cans Jounces Pounds	8.5782	\$9,264.46	51.47	0.0802 4.4233	\$86.57 \$1,194.30	46.17 26.54		\$86.62	46.17	\$0.00	
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: STOKELY (1803105) Packaging: 6/#10 POTATOES: Diced new potatoes, peeled, fancy, minimum 3/8 inch. Minimum drained weight 74 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 10 cases.	270	Cans Counces Pounds	8.5782	\$9,264.46	51.47	0.0802	\$86.57	46.17	0.0802	\$86.62		\$0.00	
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: STOKELY (1803105) Packaging: 6/#10 POTATOES: Diced new potatoes, peeled, fancy, minimum 3/8 inch. Minimum drained weight 74 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 10 cases. Brand Name: West Crk 863489 Packaging: 6/10 POTATOES: Whole new potatoes, peeled, fancy 200 count or over. Minimum drained weight 70 ounces per number ten can. Allen #13200 or equivalent.	270	Cans Counces Pounds	8.5782	\$9,264.46	51.47	0.0802 4.4233	\$86.57 \$1,194.30	46.17 26.54	0.0802	\$86.62	46.17	\$0.00	
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: STOKELY (1803105) Packaging: 6/#10 POTATOES: Diced new potatoes, peeled, fancy, minimum 3/8 inch. Minimum drained weight 74 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 10 cases. Brand Name: West Crk 863489 Packaging: 6/10 POTATOES: Whole new potatoes, peeled, fancy 200 count or over. Minimum drained weight 70 ounces per number ten can. Allen #13200 or equivalent. Case pack six (6) #10 cans. Estimated monthly usage: 7 cases.	270	Cans Counces Pounds	8.5782	\$9,264.46	51.47	0.0802 4.4233	\$86.57 \$1,194.30	46.17 26.54	0.0802	\$86.62	46.17	\$0.00	
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid, calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases. Packaging: 25 lbs VELVET (8181212) Packaging: 6/#10 MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green beans, whole kernel corn and potatoes in slightly salted water. Minimum drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: STOKELY (1803105) Packaging: 6/#10 POTATOES: Diced new potatoes, peeled, fancy, minimum 3/8 inch. Minimum drained weight 74 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 10 cases. Brand Name: West Crk 863489 Packaging: 6/10 POTATOES: Whole new potatoes, peeled, fancy 200 count or over. Minimum drained weight 70 ounces per number ten can. Allen #13200 or equivalent.	270	unds Cans Counces Pounds	8.5782	\$9,264.46	51.47	0.0802 4.4233	\$86.57 \$1,194.30	46.17 26.54	0.0802	\$86.62	46.17	\$0.00	

Milliams definished weight 70 homes per per marker from a. Also million of performance (expert of the Also and Enthand million of the Also and the Als	POTATOES: Cut yams in light syrup, U.S. Grade Fancy, 40-50 count.													\neg
Procedure Process Pr														
Production of the Control of the C	equivalent. Case pack six (6) #10 cans. Estimated monthly usage: 4 cases.													
Production of the Control of the C														
TOTAM TOTAM TOTAM Control Carbon Manager 1 for area. TOTAM CONTROL MANAGER 1 for area from the control of the	Brand Name: BRUCE (2140424)													
TOTAM TOTAM TOTAM Control Carbon Manager 1 for area. TOTAM CONTROL MANAGER 1 for area from the control of the	Packaging: 6/10	24 E	5 657	6 \$135.78	33 05	5 0000	\$120.00	30.00	5 1600	\$123.84	30.96		\$0.00	
Columber		24 0	3.037	9133.76	33.33	3.0000	\$120.00	30.00	5.1000	\$123.64	30.90		\$0.00	_
Minary M														
Postage 10 2.003 520.72 2.027 3.170 510.20 5500 577.00 177.00 510.00														
HINATO SALCE: Medium contentional, U.S. Grade A. Langer, Care pack (107.07) 201.07 (207.07) 20	Packaging: 6/10	60 E	3,395	3 \$203.72	20.37	3.1700	\$190.20	19.02	2.9500	\$177.00	17.70		\$0.00	
Act (1) 10 10 10 10 10 10 10													, , , , ,	\neg
10 10 10 10 10 10 10 10														
Figure F	Brand Name: Roma 078779	us												
10	Packaging: 6/10	150 రో	4.470	\$670.50	26.82	3.0967	\$464.50	18.58	3.0950	\$464.25	18.57		\$0.00	
Stock Stoc														
Packaging 6910 Company of the Declayed 100 cans, six (6) cans to case. Estimated monthly suage; 25 cases. Company of the Declayed 100 cans, six (6) cans to case. Estimated monthly suage; 25 cases. Company of the Declayed 100 cans, six (6) cans to case. Company of the Declayed 100 cans, six (6) cans to case. Company of the Declayed of the Option of the Option of the Declayed of the Option of the														
NINEET FASK Piack water, suppress the Peckaged 410 cann., six (6) cans to gene Editated Name: HART (1497217) Sand Name: HART (1497217) Sand Name: LOCKANIFERNY SAUCE: Comberries, high fructore corrospyrup, under correct comments of the complete of th		ıns												
Common C		60 ర	6.0812	2 \$364.87	36.49	5.2133	\$312.80	31.28	5.1670	\$310.02	31.00		\$0.00	
Street Mark 19872177 State Street														
Packaging 6410 State Sta														
Pickling		ans												
Rizand Name: IEINX (3154001)		348 O		\$0.00		4.6050	\$1,602.54	27.63		\$0.00			\$0.00	
Read Name: HILINZ (5154001) 77, \$\begin{array}{c} \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \														
Packaging: 6/10 WHOLE FAR AND EARNS: Flue can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 1 desses. Brand Name: HART (1695)14) Packaging: 6/10 210 5 5.900	Heinz #03850 of equivalent, Estimated monthly usage: 15 cases.													
### Statusted monthly usage: 11 cases Brand Name: Locan pack six (6) #10 cans. Estimated monthly usage: 12 cases. Brand Name: Locan pack six (6) each #10 cans. Estimated very usage: 1 Brand Name: CoCEAN SPR (268508) Packaging: 6#10 Packagi	Brand Name: HEINZ (5154000)													
### Statusted monthly usage: 11 cases Brand Name: Locan pack six (6) #10 cans. Estimated monthly usage: 12 cases. Brand Name: Locan pack six (6) each #10 cans. Estimated very usage: 1 Brand Name: CoCEAN SPR (268508) Packaging: 6#10 Packagi		us												
Brand Name: La Costina 043601	Packaging: 6/#10	78 రో	5.590	5 \$436.07	33.54	4.8067	\$374.92	28.84		\$0.00			\$0.00	
Brand Name: La Costina 043601														
Packaging: 6/10 Fe S	Estimated monthly usage: 11 cases.													
Packaging: 6/10 Fe S	Brand Name: La Costina 043601													
FELLED CRANBERRY SAUCE: Cranberries, high fructose cornsyrup, water, cornstrup, Case pack six (6) each #10 cans. Estimated yearly usage: 1 5 5 5 5 5 5 5 5 5		18												
Brand Name: COEAN SPR (268508) Packaging: 6#10 Packaging: 6#	Packaging: 6/10	66 Ö	3.545	\$233.99	21.27	3.6717	\$242.33	22.03	3.4820	\$229.81	20.89		\$0.00	
Brand Name: OCEAN SPR (268508) Coexistence Coexisten	JELLIED CRANBERRY SAUCE: Cranberries, high fructose cornsyrup,													
Packaging: 6/#10	water, cornsyrup. Case pack six (6) each #10 cans. Estimated yearly usage: 1													
Packaging: 6/#10	Brand Name: OCEAN SPR (268508)													
PEAS AND CARROTS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 35 cases. Brand Name: STOKELY (1931013) Packaging: 6/#10 Packaging: 6/	Brand Name. OCEAN SER (200500)	sc.												
Brand Name: STOKELY (1931013) Packaging: 6/#10 Pork AND BEANNS: Fancy, Grade A. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: BUSH (1514264) Packaging: 6/#10 Pork KERNEL: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 2 cases. Brand Name: HART (1695014) Packaging: 6/#10	Packaging: 6/#10	6 Can	7.459	4 \$44.76	44.76	5.9417	\$35.65	35.65	6.2500	\$37.50	37.50		\$0.00	
Brand Name: STOKELY (1931013) Packaging: 6/#10 Porok AND BEANS: Fancy, Grade A. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: BUSH (1514264) Packaging: 6/#10	PEAS AND CARROTS: #10 can. 6 cans per case. U.S. Grade A. Estimated													
Packaging: 6/#10 PORK AND BEANS: Fancy, Grade A. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: BUSH (1514264) Packaging: 6/#10 CORN, WHOLE KERNEL: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 2 cases. Brand Name: HART (1695014) Packaging: 6/#10 12 5 4.6094 \$55.31 \$27.66 \$3.7583 \$45.10 \$22.55 \$0.00 \$0.0	monthly usage: 35 cases.													
Packaging: 6/#10 PORK AND BEANS: Fancy, Grade A. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: BUSH (1514264) Packaging: 6/#10 CORN, WHOLE KERNEL: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 2 cases. Brand Name: HART (1695014) Packaging: 6/#10 12 5 4.6094 \$55.31 \$27.66 \$3.7583 \$45.10 \$22.55 \$0.00 \$0.0	D I N CTOVEL V. (1021012)													
PORK AND BEANS: Fancy, Grade A. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: BUSH (1514264) Packaging: 6/#10 CORN, WHOLE KERNEL: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 2 cases. Brand Name: HART (1695014) Packaging: 6/#10 WHOLE PINTO BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556)	Brand Name: STOKELY (1931013)													
PORK AND BEANS: Fancy, Grade A. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases. Brand Name: BUSH (1514264) Packaging: 6/#10 CORN, WHOLE KERNEL: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 2 cases. Brand Name: HART (1695014) Packaging: 6/#10 WHOLE PINTO BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556)	Packaging: 6/#10	210 C	5 911	8 \$1 241 48	35 47	5.4617	\$1.146.95	32.77		\$0.00			\$0.00	
Solid Name: BUSH (1514264) Solid Salar		210 0	3.211	φ1,211.10	00	211017	\$2,21005	V2		ψ0.00			ψ0.00	_
Brand Name: BUSH (1514264) Packaging: 6/#10 CORN, WHOLE KERNEL: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 2 cases. Brand Name: HART (1695014) Packaging: 6/#10 WHOLE PINTO BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556)														
Packaging: 6/#10 CORN, WHOLE KERNEL: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 2 cases. Brand Name: HART (1695014) WHOLE PINTO BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556) Brand Name: HART (1447556)														
CORN, WHOLE KERNEL: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 2 cases. Brand Name: HART (1695014) Packaging: 6/#10 WHOLE PINTO BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556) Brand Name: HART (1447556)	Brand Name: BUSH (1514264)													
CORN, WHOLE KERNEL: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 2 cases. Brand Name: HART (1695014) Packaging: 6/#10 WHOLE PINTO BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556) Brand Name: HART (1447556)	Packaging: 6/#10	270 (\$		\$0.00		2 0267	\$1,062,00	23 62		\$0.00			\$0.00	
Estimated monthly usage: 2 cases. Brand Name: HART (1695014) Packaging: 6/#10 WHOLE PINTO BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556) Brand Name: HART (1447556)		2100		\$0.00		3.9307	\$1,002.90	23.02		\$0.00		 	φυ.υυ	—
Brand Name: HART (1695014) Packaging: 6/#10 WHOLE PINTO BEANS: #10 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556) Brand Name: HART (1447556)														
Packaging: 6/#10 WHOLE PINTO BEANS: #10 cans. 6 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556) 2 4.6094 \$55.31 27.66 3.7583 \$45.10 22.55 \$0.00 \$														
WHOLE PINTO BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556)	Brand Name: HART (1695014)													
WHOLE PINTO BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly usage: 10 cases. Brand Name: HART (1447556)	D 1 :	ans	I .										40.0-	
monthly usage: 10 cases. Brand Name: HART (1447556)		12 Ö	4.609	4 \$55.31	27.66	3.7583	\$45.10	22.55		\$0.00			\$0.00	
Brand Name: HART (1447556)														
	montiny usage. 10 cases.													
Packaging: 6/1#10 25.6400 \$25.640 25.64 19.1900 \$191.90 19.19 \$0.00 \$0.00	Brand Name: HART (1447556)													
Packaging: 6/1 #10		ises												
	Packaging: 6/1 #10	10 రొ	25.640	\$256.40	25.64	19.1900	\$191.90	19.19		\$0.00			\$0.00	

POTATO, SWEET:. 10 pounds. Estimated monthly usage: 20 pounds.												
Brand Name: BRUCE (2140424)												
	20		40.00		0.0000	04 c c=						
Packaging: 6/10 PEACHES: Domestically grown and packed irregular sliced peaches packed	20		\$0.00		0.8333	\$16.67	30.00		\$0.00		\$0.	00
in light syrup, yellow cling, natural juice, U.S. Grade C. Minimum drained												
weight 65 ounces per number ten can. Case pack six (6) #10 cans. Delmonte or equivalent. Estimated monthly usage: 35 cases.												
Brand Name: Silver Source 863456												
		2										
Packaging: 6/#10 PEACHES: Domestically grown and packed Peach halves packed in light	210		\$0.00		5.7200	\$1,201.20	34.32	5.4400	\$1,142.40	32.64	\$0.	00
syrup, yellow clingstone, U.S. Grade C. Syrup density to be light. Minimum drained weight 65 ounces per number ten can. Case pack six (6) #10 cans. Delmonte or equivalent. Estimated monthly usage: 45 cases.												
Brand Name: TASTEWEST (439992)												
Packaging: 6/#10	270		\$0.00		5.5367	\$1,494.90	33.22	5.7700	\$1,557.90	34.62	\$0.	00
PEARS: Domestically grown and packed Pear halves. Frosty Acres.U.S.												
Grade C. Syrup density to be light. Minimum drained weight 65 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45												
Brand Name: Westcreek 229689												
Brand Name: Westcreek 229689		22										
Packaging: 6/#10	270	6.014	\$1,623.81	36.08	5.6000	\$1,512.00	33.60	5.5000	\$1,485.00	33.00	\$0	00
APPLES: Domestic grown sliced apples, fancy, U.S. Grade A, solid pack. Minimum drained weight 95 ounces per number ten can. Case pack six (6)												
#10 cans. Estimated monthly usage: 11 cases.												
Brand Name: Celebrity												
Packaging: 6/#10	66	5.470	\$361.06	32.82	7.3633	\$485.98	44.18	5.5700	\$367.62	33.42	\$0.	00
FRUIT COCKTAIL: Domestically packed U.S. Grade choice. Syrup density												
to be light. Minimum drained weight 71 ounces per number ten can. Case pack six (6) #10 cans. Del Monte or Equivalent. Estimated monthly usage: 50												
Brand Name: Packer / 074346												
Packaging: 6/10	300	5.724	\$1,717.41	34.35	6.3733	\$1,912.00	38.24	5.3670	\$1,610.10	32.20	\$0.	00
APPLESAUCE: Fancy, U.S. Grade A. Case pack six (6) #10 cans.	300	3.724	\$1,717.41	34.33	0.5755	\$1,912.00	30.24	5.5070	\$1,010.10	32.20	\$0.	00
Estimated monthly usage: 30 cases.												
Brand Name: Chef Max / 348803												
Packaging: 6/10	180	6,695	§1,205.15	40.17	5,9350	\$1,068.30	35.61	4.6500	\$837.00	27.90	\$0	00
CHERRY PIE FILLING: 6/#10 cans. Lucky Leaf. Estimated monthly usage:		1										
4 cases.												
Brand Name: Globe 027768		a a										
Packaging: 6/#10	24		\$0.00		14.0067	\$336.16	84.04	14.0000	\$336.00	84.00	\$0	00
PINEAPPLE CHUNKS: 6/10# cans. Estimated monthly usage: 5 cases.												
Brand Name: World Horizon												
Packaging: 6/#10	30	4.482	14 \$134.47	26.89	4.5133	\$135.40	27.08	4.6800	\$140.40	28.08	\$0.	00
PINEAPPLE SLICES: 6/10# cans. Estimated monthly usage: 5 cases.			,,,,,,,,			,			,			
Brand Name: World Horizon												
Packaging: 6/#10	30	4.448	\$133.46	26.69	4.5133	\$135.40	27.08		\$0.00		\$0	00
	50	4.440	φ133,40	20.03	رر ₁ ر.۳	Ψ1.5.40	21.00		φ0.00		\$0.	00

CHILI WITHOUT BEANS: Ready to use, containing a minimum of 40% fresh ground beef, tomato paste, chili pepper, cumin, texturized vegetable protein and spices, packaged six (6) pounds eleven (11) ounces per number ten can. Case pack six (6) #10 cans, Chef-Mate or equivalent. Estimated monthly usage: 15 cases.													
Brand Name: LIBBY (3153004)													
Packaging: 6/#10	90 (Can	11.5800	\$1,042.20	69.48	10.5417	\$948.75	63.25	10.6633	\$959.70	63.98	\$0.00	
CHUNK LIGHT TUNA (IN WATER): Tuna, water and salt, net weight 66-1/2 oz (4 lbs., 2-1/2 oz). Six (6) cans to case. Chicken of the Sea #7087 or equivalent. Estimated monthly usage: 15 cases.													
Brand Name: packer 957488													
Packaging: 6/ 66.5 oz	90	Š	12.3529	\$1,111.76	74.12	15.0448	\$1,354.03	62.53	11.3330	\$1,019.97	68.00	\$0.00	
CREAM OF MUSHROOM SOUP: Water, mushrooms, vegetable oil (corn, cottonseed or partially hydrogenated soybean oil), wheat flour, cream, salt, cornstarch, dried dairy blend (whey, calcium caseinate), modified food starch, whey, monosodium glutamate, soy protein isolate, natural flavoring, yeast extract and dehydrated garlic. Packaged 12/49.5 oz to a case. Estimated monthly usage: 10 cases.													
Brand Name: HEINZ (2491504)													
Packaging: 12/49.5 OZ	120	Š	7.2194	\$866.33	43.32	5.4917	\$659.01	33.98		\$0.00		\$0.00	
WHOLE BLACK OLIVES: 1/#10 can. Large Pitted Ripe Olives. Estimated monthly usage: 4 cases.													
Brand Name: Del Destino		ω											
Packaging: 6/#10	12 (Can	5.4688	\$65.63	32.81	5.6683	\$68.02	34.01		\$0.00		\$0.00	
CREAM OF CHICKEN SOUP: 12/50oz. Cambell's. Estimated monthly usage: 4 cases.													
Brand Name: HEINZ (2487007)													
Packaging: 12/49.25 OZ RAVIOLI, BEEF SCHOOL PACK: 6/#10. Chef Boy. Estimated monthly	48	Can	7.2741	\$349.16	43.64	5.5683	\$267.28	34.28		\$0.00		\$0.00	
usage: 2 cases.													
Brand Name: Chef Boy 079975		ω											
Packaging: 6/#10	2 (Case		\$0.00		46.8800	\$93.76	46.88	42.0000	\$84.00	42.00	\$0.00	
BEANS, REFRIED ORIGINAL: 6/#10. Rosarita. Estimated monthly usage: 2 cases.] [
Brand Name: Casa Fiesta 153335		~											
Packaging: 6/#10	2 (Case		\$0.00		28.2100	\$56.42	28.21	27.8000	\$55.60	27.80	\$0.00	
POTATOES, MASHED COMPLT W/VIT C: 6/#10. True Recipe. Estimated monthly usage: 2 cases.		1 [
Brand Name: TRUERECIPE (2092500)		ω											
Packaging: 6/#10	2 0	Case		\$0.00		40.0000	\$80.00	40.00		\$0.00		\$0.00	
PEAS, BLACKEYED: 6/#10. Hanover. Estimated monthly usage: 2 cases.]											
Brand Name: HANOVER (1912500)		×											
Packaging: 6/#10	2 0	Case		\$0.00		24.7000	\$49.40	24.70		\$0.00		\$0.00	
PIONEER CHEDDAR CHEESE SAUCE MIX: 6/29 oz. per case. Estimated monthly usage: 2 cases.		[
Brand Name: Pioneer 068339													
Packaging: 8/32oz	12 (Can	7.7753	\$93.30	46.65	19.8952	\$238.74	36.06	6.0000	\$72.00	48.00	\$0.00	

PIONEER BROWN GRAVY: 6/13 oz. Pkg per case. Estimated monthly	$\overline{}$		1									ı		
usage: 4 cases.														
Brand Name: SHAWNEE (3455691)	1													
Deducing (14 OZ		SS												
Packaging: 6/14 OZ	312	ounc	0.1820	\$56.78	14.20	0.1642	\$51.22	13.79		\$0.00			\$0.00	
PIONEER CHICKEN GRAVY : 6/14 oz. Pkg per case. Estimated monthly	312	O	0.1820	\$30.76	14.20	0.1042	\$51.22	13.79		\$0.00			\$0.00	
usage: 4 cases.														
	-													
Brand Name: SHAWNEE (3445693)		so.												
` ′	1	nce												
Packaging: 6/14 OZ	336	Õ	0.2647	\$88.94	22.24	0.1642	\$55.16	13.79		\$0.00			\$0.00	
ENCHILADA SAUCE, Case Fiesta: 6#10/case. Estimated monthly usage: 4														
cases.	-													
Brand Name: CASAFIESTA (3579604)														
	1	ses												
Packaging: 6/#10	2	రొ		\$0.00		28.0600	\$56.12	28.06	36.0000	\$72.00	36.00		\$0.00	
GELATIN: Cherry flavor, powder, concentrate, dessert, 25% citric acid,														
sodium citrate, instruction for use on label. Case pack to be moisture proof package, twelve (12), twenty four (24) ounce per case. Estimated monthly														
usage: 12 cases.														
	1													
Brand Name: ROYAL (4161005)		S												
Packaging: 12/24 OZ	2456	nnc	0.0006	#200 cc	05.70	0.0064	φ 300. c0	04.00		Φ0.00			фо оо	
GELATIN: Lime flavor, powder, concentrate, dessert, 25% citric acid, sodium	3456	0	0.0896	\$309.66	25.79	0.0864	\$298.68	24.89		\$0.00			\$0.00	
citrate, instruction for use on label. Case pack to be moisture proof package,	1													
twelve (12), twenty four (24) ounce per case. Estimated monthly usage: 12														
cases.														
	1													
Brand Name: ROYAL (4161007)		Ses												
Packaging: 12/24 OZ	3456	oun(0.0893	\$308.62	25.71	0.0864	\$298.68	24.89		\$0.00			\$0.00	
GELATIN: Orange flavor, powder, concentrate, dessert, 25% citric acid,	3430	O	0.0693	\$306.02	25.71	0.0004	φ290.00	24.03		\$0.00			\$0.00	
sodium citrate, instruction for use on label. Case pack to be moisture proof														
package, twelve (12), twenty four (24) ounce per case. Estimated monthly														
usage: 12 cases.	╛													
Deced Nov. POWAL (41(1000))														
Brand Name: ROYAL (4161008)	-	ses												
Packaging: 12/24 OZ	3456	uno	0.0895	\$309.31	25.77	0.0864	\$298.68	24.89		\$0.00			\$0.00	
GELATIN: Raspberry flavor, powder, concentrate, dessert, 25% citric acid,	1 .50	Ť	2.00,0	+307.51		3,0004		200		Ψ0.00			Ψ0.00	
sodium citrate, instruction for use on label. Case pack to be moisture proof														
package, twelve (12), twenty four (24) ounce per case. Estimated monthly														
usage: 12 cases.	_													
Brand Name: ROYAL (4161009)														
Diana Panic. ROTAL (4101007)	-	ces												
Packaging: 12/24 OZ	3456	IIIO		\$0.00		0.0864	\$298.68	24.89		\$0.00			\$0.00	
GELATIN: Strawberry flavor, powder, concentrate, dessert, 25% citric acid,	1			+2.00			72, 0,000	00		72.00			+5.50	
sodium citrate, instruction for use on label. Case pack to be moisture proof														
package, twelve (12), twenty four (24) ounce per case. Estimated monthly														
usage: 12 cases.	4													
Brand Name: ROYAL (4161010)														
NO III (1101010)	1	ces												
Packaging: 12/24 OZ	3456	Ō	0.0895	\$309.31	25.78	0.0864	\$298.68	24.89		\$0.00			\$0.00	
CHOCOLATE FROSTING 1/40 lb. Estimated monthly usage: 2 buckets.														
D 111 DDV 44444	1													
Brand Name: BRILL 264819	4	spc												
Packaging: 1/23# pail	90	no		\$0.00		2,5253	\$202.03	37.88	2.4500	\$196.00	56.35		\$0.00	
i uoruging. 1/23π pan	80	ഥ		20.00		2.3233	\$202.U3	31.08	2.4500	\$150.00	30.35		\$0.00	

	_												
CAKE MIX TYPE 1: Spice, aroma and flavor of the finest spices to make one													
(1) each 18" x 26" sheet cake per five (5) pounds. Case pack to be six (6) each													
five (5) pounds. Estimated monthly usage: 20 cases.													
	1												
Brand Name: CHELSEA 870761		တ္											
	1	pu											
Packaging: 1/50#	600	Por		\$0.00		2.0990	\$1,259.40	62.97	0.7700	\$462.00	38.50	\$0.00	
CAKE MIX TYPE 1: White, moist, to make one (1) each 18" x 26" sheet cake							, ,			,		, , , , , , , , , , , , , , , , , , , ,	
per five (5) pound. Case pack to be six (6) each five (5) pound. Estimated													
monthly usage: 17 cases.	-												
David Name CHELGEA 070700													
Brand Name: CHELSEA 870760	1	ds.											
		unc											
Packaging: 1/50#	510	ਕੁ	0.9882	\$503.98	29.65	0.8027	\$409.36	24.08	0.7200	\$367.20	36.00	\$0.00	
CAKE MIX TYPE 1: Yellow, moist, to make one (1) each 18" x 26" sheet													
cake per five (5)pound. Case pack to be six (6) each five (5) pound. Estimated													
monthly usage: 17 cases.													
, ,													
Brand Name: CHELSEA 870759		8		l		l							
	1	힏		l									
Packaging: 1 50#	360	no.	0.9942	\$357.91	29.83	0.7917	\$285.00	23.75	0.7200	\$259.20	36.00	\$0.00	
	300	 	0.9942	φ337.91	29.03	0.7917	\$483.00	23.13	0.7200	φ439.20	30.00	\$0.00	
CAKE MIX TYPE 1: Gilster Mary Lee Devils Food Chocolate Flavor, moist,	1	 		l									
to make one (1) each 18" x 26" sheet cake per five (5)pound. Case pack to be													
six (6) each five (5) pound. Estimated monthly usage: 12 cases.	J	 		l		l							
Brand Name: CHELSEA 870698		S											
	1	DIII											
Packaging: 1 50#	360	Por	1.2000	\$432.00	36.00	0.8777	\$315.96	26.33	0.7700	\$277.20	38.50	\$0.00	
PUDDING: Chocolate, instant, no-cooking, quick setting. Case pack of 12/28							, , , , , , , , , , , , , , , , , , , ,			,		, , , , , , , , , , , , , , , , , , , ,	
oz. Estimated monthly usage: 10 cases.													
oz. Estimated monthly usage. 10 cases.	4												
D IN DACKED OFFICE													
Brand Name: PACKER 957937	1	S											
		on in											
Packaging: 6/3 #	3360	Ŏ		\$0.00		0.1646	\$553.00	55.30	0.0950	\$319.20	27.36	\$0.00	
PUDDING: Lemon, instant, no-cooking, quick setting. Case pack of 12/28 oz.													
Estimated monthly usage: 10 cases.													
Brand Name: FRST FOODS 948845		so.											
	1	ce											
Packaging: 12/24 OZ	3360	Ī		\$0.00			\$0.00	NO BID	0.1146	\$385.06	33.00	\$0.00	
PUDDING: Vanilla, instant, no-cooking, quick setting. Case pack of 12/28 oz.	3300	 		φο.σσ	1		ψ0.00	110 5.5	011110	φεσεισσ	00.00	\$0.00	
Estimated monthly usage: 17 cases.	-	 		l		l							
Brand Name: PACKER 957932	1	 		l									
Dianu Name: PACKER 93/932	-	S											
		m											
Packaging: 6/3#	5712	Ō		\$0.00		0.1352	\$772.31	45.43	0.0950	\$542.64	27.36	\$0.00	
CORN CHIPS (FRITOS): Corn, vegetable oil (contains one or more of the													
following: corn oil, peanut oil, soybean oil, sunflower oil or partially		 		l									
hydrogenated sunflower oil), and salt. Case pack of 6/16 oz. each 1 pound		 											
bags. Estimated monthly usage: 46 cases.	1	 		l									
, , , , , , , , , , , , , , , , , , ,	1	 		l									
Brand Name: FRITOS (3777018)	1			l									
	1	힏		l									
Packaging: 8/16 OZ	46	no	1.7894	\$82.31	14.32	1.6713	\$76.88	13.37		\$0.00		\$0.00]
		 	1./894	φ8∠.31	14.32	1.0/13	\$/0.88	13.37		\$0.00		\$0.00	
POTATO CHIPS: Ruffles, Potatoes, vegetable oil (contains one or more of the	1	 		l									
following: sunflower oil, cornoil, cottonseed oil, partially hydrogenated		 											
sunflower oil, partially hydrogenated soybean oil, peanut oil or partially	1	 		l									
hydrogenated cottonseed oil), and salt. Case pack 6/16 oz bags. Estimated		 		l									
monthly usage: 46 cases.	_	 											
	1	 		l									
Brand Name: RUFFLES (3777240)	1	ω		l									
·	1	Pul		l									
Packaging: 8/16 OZ	46	రై	2.3149	\$106.49	18.52	2.1625	\$99.48	17.30		\$0.00		\$0.00	
	- 70	_	2.3177	Ψ100.72	10.02	2.1023	φ22.40	17.00		φυ.υυ		Ψ0.00	ı

TORTH I A CHIPC. To attack (Fatter I and William Life Comm. Vanada bla			1		1								
TORTILLA CHIPS: Tostitos (Frito Lay) Whole white Corn, Vegetable													
oil(corn, soybean, Canola and/or sunflower oil), and salt. Estimated monthly usage: 4 cases													
Estimated monthly usage: 4 cases	1												
Brand Name: TOSTITOS (3777350)		SS											
D. L		nuc	0.4425	A = = = 0	4.4.40	0.4055	***	40.47				40.00	
Packaging: 8/16 OZ	512	0	0.1127	\$57.70	14.42	0.1052	\$53.88	13.47		\$0.00		\$0.00	
COFFEE: Institutional blend, ground master blends, Royal York brands or equivalent, 39 oz can. Estimated monthly usage: 44 cans.													
equivalence of the second seco	1												
Brand Name: DOUWE EGBT (8241349)		es											
Packaging: 12/2LB	1716	nnc	0.2106	Φ540.4 2	05.00	0.2505	D445.62	00.70	0.2240	0570.14	07.04	\$0.00	
SHORTENING: Pure vegetable, high temperature. Case pack preferred	1716	_	0.3196	\$548.43	65.20	0.2597	\$445.62	99.72	0.3340	\$573.14	67.94	\$0.00	
twelve (12) each three (3) pound. Estimated monthly usage: 2 case.													
Brand Name: BUNGE (8092512)		sp											
Packaging: 1/50 LB.	72	uno		\$0.00		0.8176	\$58.87	40.88	0.9152	\$65.89	45.76	\$0.00	
REYNOLDS FILM (PLASTIC WRAP): Eighteen (18) inches wide by two	12	<u>a</u>		\$0.00		0.01/0	\$50.07	40.00	0.9132	\$03.89	45.70	\$0.00	
thousand (2,000) feet. Reynolds #914 or equivalent. Estimated monthly													
usage: Estimated monthly usage: 14 rolls.													
D I N A F. D. (7002000)													
Brand Name: A E P (7082000)		×.											
Packaging: 1/18"X2000'	14	Roll	18.8365	\$263.71	18.84	13.2700	\$185.78	13.27	16.0000	\$224.00	16.00	\$0.00	
REYNOLDS FOIL: Eighteen (18) inches by five hundred (500) feet, heavy													
duty. Reynolds #624 or equivalent. Estimated monthly usage: 17 rolls.													
David Name Cilcus Common 240200													
Brand Name: Silver Source 240308		×.											
Packaging: 1/500 ft	17	Roll	36.6565	\$623.16	36.66	21.0000	\$357.00	21.00	20.2500	\$344.25	20.25	\$0.00	
APRONS: Clear plastic, 24 X 42. Case pack of 100 each. Estimated monthly							,			,			
usage: 225 cases.													
Brand Name: FOODHANDLR (6780001)													
Packaging: 1/100 CT		ч											
	22500	Eac		\$0.00		0.0441	\$992.25	4.41		\$0.00		\$0.00	
GLOVES: Disposable, non-medical, clear, plastic, large. 10 Boxes of 100 each.													
Estimated monthly usage: 95 boxes.													
Brand Name: JOB SELECT (6798425)													
Braid Name. JOB SELECT (0/76423)		ч											
Packaging: 10/100 CT	95000	Eac		\$0.00		0.0528	\$5,019.80	52.84		\$0.00		\$0.00	
ZIPPER-LOCK SANDWICH BAGS: Resealable, plastic. Size 6 5/8in. x 5													
7/8in. 1000 Count box. Estimated monthly usage: 36 boxes.													
Brand Name: FOODHANDLR (9390975)													
Brand Name. 100BH NBER (7370713)		ч											
Packaging: 1/1000 CT	36000	Eac	0.0526	\$1,893.60	26.29	0.0165	\$594.90	16.53		\$0.00		\$0.00	
BROWN PAPER BAGS (LUNCH): 6 lb. 500 per package.													
Parad Name DUDO (0690225)													
Brand Name: DURO (9689225)		-c											
Packaging: 1/500 CT	12000	Eac		\$0.00		0.0224	\$269.04	11.21	0.0284	\$340.80	14.20	\$0.00	
ICE CREAM CUPS: 1000/per package. Estimated monthly usage: 1pkg.		T											
	1												
Brand Name: DART (9397676)													
Packaging: 1/1000 CT	1	okg S	18.3600	\$18.36	18.36	17.0400	\$17.04	17.04		\$0.00		\$0.00	
BOUFFANT HATS: (Prime Source) size: 21" Item # 75009224 Q.C.: SH	1	-	10.5000	Ψ10.50	10.50	17.0400	φ17.0 1	17.04		φυ.υυ		φ0.00	\vdash
28028													
Brand Name: Royal Paper		5											
Packaging: 10/100 ct	4000	Eacl	0.0417	\$166.80	41.66		\$0.00	NO BID	0.0440	\$176.00	44.00	\$0.00	
	.500		0.5417	φ±00.00	71.00		ψ0.00	0 010	5.0440	φ170.00	44.00	Ψ0.00	

CREAM CHEESE: 3 lb. box. Philadelphia.Estimated monthly usage: 30												
Brand Name: Pauly	×											
Packaging: 10/3 lb	90 B	1.7149	\$154.34	51.45	1.7463	\$157.17	52.39	1.7400	\$156.60	52.20	\$0.00	
SHREDDED MOZZARELLA CHEESE: 5 lb. bag. 4 bags per case. Frosty Acres. Estimated monthly usage: 4 cases.												
												,
Brand Name: Slver Source 875191	spun											,
Packaging: 4/5 #	80 8	2.6608	\$212.86	53.22	4.1900	\$335.20	4.19	2.3480	\$187.84	46.96	\$0.00	
SOUR CREAM: 5lb tub. 4 tubs per case. Daisy. Estimated monthly usage: 8												
cases.												
Brand Name: west creek 337679												
	pun											
Packaging: 4/5 #	80 g	1.1176	\$89.41	22.35	1.1100	\$88.80	22.20	1.0720	\$85.76	21.44	\$0.00	
YOGURT, YOPLAIT, LIGHT, STRAWBERRY BANANA: 48/4 oz.												
Estimated monthly usage: 5 cases.												
Brand Name: UPSTATE (8180039)												
Packaging: 48/4 OZ	240 E		\$0.00		0.2833	\$68.00	13.60		\$0.00		\$0.00	